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NEW QUESTION 1
- (Exam Topic 2)
Refer to the exhibit.

What action establishes the OSPF neighbor relationship without forming an adjacency?

A. modify hello interval
B. modify process ID
C. modify priority

D. modify network type

Answer: A
NEW QUESTION 2

- (Exam Topic 2)
Refer to Exhibit.

SWi: SWe:

interface FastEthernet0/1 interface FastEthernet0/1
switchport trunk encapsulation dotlg
switchport trunk native wvlan 999

switchport mode trunk

switchport trunk encapsulation dotlq
switchport trunk native wvlan 99
switchport mode trunk

Which action do the switches take on the trunk link?

A. The trunk does not form and the ports go into an err-disabled status.

B. The trunk forms but the mismatched native VLANs are merged into a single broadcast domain.
C. The trunk does not form, but VLAN 99 and VLAN 999 are allowed to traverse the link.

D. The trunk forms but VLAN 99 and VLAN 999 are in a shutdown state.

Answer: B

Explanation:

The trunk still forms with mismatched native VLANs and the traffic can actually flow between mismatched switches. But it is absolutely necessary that the native
VLANSs on both ends of a trunk link match; otherwise a native VLAN mismatch occurs, causing the two VLANS to effectively merge.

For example with the above configuration, SW1 would send untagged frames for VLAN 999. SW2 receives them but would think they are for VLAN 99 so we can
say these two VLANSs are merged.

NEW QUESTION 3
- (Exam Topic 2)
Refer to the exhibit.
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Switch (config) #hostname R1

Rl (config) #interface FastEthernet(/1

Rl (config-if) #no switchport

Rl (config-if) #ip address 10.100.20.42 255.255.255.0
Rl (config-if)#line vty 0 4

Rl (config-line) #login

An engineer booted a new switch and applied this configuration via the console port. Which additional configuration must be applied to allow administrators to

authenticate directly to enable privilege mode via Telnet using a local username and password?

R1{configusername admin privilege 15 secret p@ss1234
R1{config-if #line vty 0 4
R 1{config-inezlogin local

R 1iconfig)#username admin secret p@ss1234
R1{config-if #line vty 0 4

R 1{contig-ine #login local

R1{configj#enable secret p@ss1234

R1{config)#username admin
R1{config-if #line vty 0 4
R1{config-line wpassword p@ss1234
R1{config-line #transport input telnet

R 1{config#username admin
R1{config-if i#line vty 0 4
R1(config-hne #password p@ss1234

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 4

- (Exam Topic 2)
Refer to the exhibit.

Waeab Server

s [ 1P address
10 30 0 100724
VLAN 20

Switch A ] Swiich 8

m Int VLAN 10 - ip address 10 10 0 0724

VIANIO — Int VLAN 20 — ip address 10 20 0.0:24
) Int VLAN 30 — ip address 10.30.0 0724

A network engineer must block access for all computers on VLAN 20 to the web server via HTTP All other computers must be able to access the web server

Which configuration when applied to switch A accomplishes this task?
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config t

ip access-list extended wwwblock
deny tcp any host 10.30.0.100 eq 80
int vlan 10

ip access-group wwsblock in

config t

ip access-list extended wwwblock
deny tcp any host 10.30.0.100 eq 80
permit ip any any

int vlan 20

ip access-group wwwblock in

confiq t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eq 80
int vlan 30

ip access—group wwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eg 80
int vlian 20

ip access-group wwwblock in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 5
- (Exam Topic 2)
What are two characteristics of a public cloud Implementation? (Choose two.)

A. It is owned and maintained by one party, but it is shared among multiple organizations.

B. It enables an organization to fully customize how It deploys network resources.

C. It provides services that are accessed over the Internet.

D. It Is a data center on the public Internet that maintains cloud services for only one company.

E. It supports network resources from a centralized third-party provider and privately-owned virtual resources

Answer: CE

Explanation:

Private cloud is cloud infrastructure operated solely for a single organization, whether managed internally or by a third party, and hosted either internally or

externally.

Most public-cloud providers offer direct-connection services that allow customers to securely link their legacy data centers to their cloud-resident applications.

NEW QUESTION 6
- (Exam Topic 2)
Which command must be entered to configure a DHCP relay?

A. ip helper-address
B. ip address dhcp
C. ip dhcp pool

D. ip dhcp relay

Answer: A

NEW QUESTION 7
- (Exam Topic 2)

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the

administrative distance of the route that will be installed in the routing table?
A. 20

B. 90

C. 110

D. 115

Answer: B
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Explanation:

The Administrative distance (AD) of EIGRP is 90 while the AD of OSPF is 110 so EIGRP route will be chosen to install into the routing table.

NEW QUESTION 8
- (Exam Topic 2)

Which command must be entered when a device is configured as an NTP server?

A. ntp authenticate
B. ntp server

C. ntp peer

D. ntp master

Answer: D

Explanation:

To configure a Cisco device as an Authoritative NTP Server, use the ntp master [stratum] command.To configure a Cisco device as a NTP client, use the
command ntp server <IP address>. For example:Router(config)#ntp server 192.168.1.1. This command will instruct the router to query 192.168.1.1 for the time.

NEW QUESTION 9
- (Exam Topic 2)

Drag and drop to the characteristics of networking from the left onto the correct networking types on the right.

focused on network

fccused on devices

user input is a configuration

user inout is a policy

Controller-Cased Metworking

user white |st secunty model

user black Ist security model

A. Mastered
B. Not Mastered

Tradional networking

Answer: A
Explanation:
Controller-Cased Networking
focused on network
user white list security model
user input is a policy
Traditional networking
focused on devices
user biack list security model
user input is a configuration

NEW QUESTION 10
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- (Exam Topic 2)
Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: B

Explanation:

This is an example of how two-factor authentication (2FA) works:1. The user logs in to the website or service with their username and password.2. The password
is validated by an authentication server and, if correct, the user becomes eligible for the second factor.3. The authentication server sends a unique code to the
user’s second-factor method (such as a smartphone app).4. The user confirms their identity by providing the additional authentication for their second-factor

method.

NEW QUESTION 10
- (Exam Topic 2)

An engineer is configuring NAT to translate the source subnet of 10.10.0.0/24 to any of three addresses 192.168.30.1, 192.168.3.2, 192.168.3.3 Which

configuration should be used?

enable

configure terminal

ip nat pool mypool 192.168.3.1 192.168.3.3 prefix-length 30
route-map permit 10.10.0.0 255.255.255.0

Ip nat outside destination list 1 pool mypool

interface g1/1

ip nat inside

interface g1/2

ip nat outside

enable

configure terminal

Ip nat pool mypool 192.168.3.1 192.168.3.3 prefix-length 30
access-list 1 permit 10.10.0.0 0.0.0.255

ip nat inside source list 1 pool mypool

interface g1/1

Ip nat inside

Interface g1/2

Ip nat outside

enable

configure terminal

ip nat pool mypool 192.168.3.1 192.168.3.3 prefix-length 30
access-list 1 permit 10.10.0.0 0.0.0.255

ip nat outside destination list 1 pool mypool

interface g1/1

ip nat inside

interface g1/2

ip nat outside

enable

configure terminal

ip nat pool mypool 192.168.3.1 192.168.3.3 prefix-length 30
access-list 1 permit 10.10.0.0 0.0.0.254

ip nat inside source list 1 pool mypool

interface g1/1

ip nat inside

interface g1/2

ip nat outside

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 15

- (Exam Topic 2)

What is the function of a server?

A. It transmits packets between hosts in the same broadcast domain.
B. It provides shared applications to end users.

C. It routes traffic between Layer 3 devices.

D. It Creates security zones between trusted and untrusted networks

Answer: B
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NEW QUESTION 18
- (Exam Topic 2)
When OSPF learns multiple paths to a network, how does it select a route?

A. It multiple the active K value by 256 to calculate the route with the lowest metric.

B. For each existing interface, it adds the metric from the source router to the destination to calculate the route with the lowest bandwidth.
C. It divides a reference bandwidth of 100 Mbps by the actual bandwidth of the existing interface to calculate the router with the lowest cost.
D. It count the number of hops between the source router and the destination to determine the router with the lowest metric

Answer: C
NEW QUESTION 21

- (Exam Topic 2)
Refer to the exhibit.

— - —
—_ —

—a—0 : 7"

The nip server 192.168.0.3 command has been configured on router 1 to make it an NTP client of router 2. Which command must be configured on router 2 so that
it operates in server-only mode and relies only on its internal clock?

A. Router2(config)#ntp passive

B. Router2(config)#ntp server 172.17.0.1
C. Router2(config)#ntp master 4

D. Router2(config)#ntp server 192.168.0.2

Answer: B

Explanation:
 To use internal clock of this router, use any configured IP address in any interface of this router.

NEW QUESTION 26
- (Exam Topic 2)
Which two primary drivers support the need for network automation? (Choose two.)

A. Eliminating training needs

B. Increasing reliance on self-diagnostic and self-healing
C. Policy-derived provisioning of resources

D. Providing a ship entry point for resource provisioning
E. Reducing hardware footprint

Answer: CD

NEW QUESTION 30

- (Exam Topic 2)

A user configured OSPF in a single area between two routers A serial interface connecting R1 and R2 is running encapsulation PPP By default which OSPF
network type is seen on this interface when the user types show ip ospf interface on R1 or R2?

A. port-to-multipoint
B. broadcast

C. point-to-point

D. nonbroadcast

Answer: C

Explanation:
The default OSPF network type for HDLC and PPP on Serial link is point-to-point (while the default OSPF network type for Ethernet link is Broadcast).

NEW QUESTION 32
- (Exam Topic 1)
What are two characteristics of the distribution layer in a three-tier network architecture? (Choose two.)

A. serves as the network aggregation point

B. provides a boundary between Layer 2 and Layer 3 communications
C. designed to meet continuous, redundant uptime requirements

D. is the backbone for the network topology

E. physical connection point for a LAN printer

Answer: BC

NEW QUESTION 35
- (Exam Topic 1)
Refer to the exhibit.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\07 Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

Gi0/0| 10.0.0.253/30

S

ST

An administrator must turn off the Cisco Discovery Protocol on the port configured with address last usable address in the 10.0.0.0/30 subnet. Which command set
meets the requirement?

A. interface gi0/1 no cdp enable

B. interface gi0/1 clear cdp table

C. interface gi0/Ono cdp advertise-v2
D. interface gi0/0 no cdp run

Answer: D

NEW QUESTION 36
- (Exam Topic 1)
Which virtual MAC address is used by VRRP group 1?

A. 0050.0c05.ad81
B. 0007.c061.bcO1
C. 0000.5E00.0101
D. 0500.3976.6401

Answer: C

Explanation:
The virtual router MAC address associated with a virtual router is an IEEE 802 MAC Address in the following format:
00-00-5E-00-01-{VRID} (in hex in internet standard bit-order)

NEW QUESTION 37
- (Exam Topic 1)
What is the benefit of using FHRP?

A. reduced management overhead on network routers

B. balancing traffic across multiple gateways in proportion to their loads
C. higher degree of availability

D. reduced ARP traffic on the network

Answer: C

NEW QUESTION 38
- (Exam Topic 1)
What occurs when overlapping Wi-Fi channels are implemented?

A. The wireless network becomes vulnerable to unauthorized access.
B. Wireless devices are unable to distinguish between different SSIDs
C. Users experience poor wireless network performance.
D. Network communications are open to eavesdropping.

Answer: C

NEW QUESTION 39
- (Exam Topic 1)
How do TCP and UDP differ in the way they provide reliability for delivery of packets?

A. TCP is a connectionless protocol that does not provide reliable delivery of data, UDP is a connection-oriented protocol that uses sequencing to provide reliable
delivery.

B. TCP does not guarantee delivery or error checking to ensure that there is no corruption of data UDP provides message acknowledgement and retransmits data
if lost.

C. TCP provides flow control to avoid overwhelming a receiver by sending too many packets at once, UDP sends packets to the receiver in a continuous stream
without checking for sequencing

D. TCP uses windowing to deliver packets reliably; UDP provides reliable message transfer between hosts by establishing a three-way handshake

Answer: C

NEW QUESTION 43
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- (Exam Topic 1)
What are network endpoints?

A. act as routers to connect a user to the service prowler network
B. a threat to the network if they are compromised

C. support inter-VLAN connectivity

D. enforce policies for campus-wide traffic going to the internet

Answer: B

NEW QUESTION 46
- (Exam Topic 1)
Refer to the exhibit.

An access list is required to permit traffic from any host on interface G0/0 and deny traffic from interface G/0/1. Which access list must be applied?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 51
- (Exam Topic 1)
Which device performs stateful inspection of traffic?

A. firewall

B. switch

C. access point

D. wireless controller

Answer: A

NEW QUESTION 55
- (Exam Topic 1)
Drag and drop the QoS congestion management terms from the left onto the description on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 57
- (Exam Topic 1)

Image Server
10.10.13.10/25

Chent A
192.168.0.100/24

Rl#show ip route
Gateway of last resort is 10.10.10.2 to network 0.0.0.0
s* 0.0.0.0/0 [1/0] via 10.10.10.2

R2¥show ip route
Gateway of last resort is 10.10.10.1 to network 0.0.0.0
g* 0.0.0.0/0 [1/0] via 10.10.10.1

Refer to the exhibit Routers R1 and R2 have been configured with their respective LAN interfaces The two circuits are operational and reachable across WAN
Which command set establishes failover redundancy if the primary circuit goes down?

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
| |SurePass

https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

F1(config #ip route 10.10.13.10 255.2565.255.265 10.10.10.2
R (config Fip route 192.168.0.100 255.255.255.255 10.10.10.1
in iR config ip route 0.0.0.0 0.0.0.0 10.10.10.6 2
R2iconfig #ip route 0.0.0.0 0.0.0.0 10.10.10.5 2
R1(config #ip route 10.10.13.10 255.255.255.258 10.10.10.6
R (config #ip route 192,168.0.100 255.255.255.255 10.10.10.5
A1 (config Fip route 0.0.0.0 0.0.0.0 10.10.10.6
FES(CGH MG e v e D800 .6, 000, 10 30. W5

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 59

- (Exam Topic 1)
How does HSRP provide first hop redundancy?

A. It load-balances traffic by assigning the same metric value to more than one route to the same destination m the IP routing table.

B. It load-balances Layer 2 traffic along the path by flooding traffic out all interfaces configured with the same VLAN.

C. It forwards multiple packets to the same destination over different routed links n the data path
D. It uses a shared virtual MAC and a virtual IP address to a group of routers that serve as the default gateway for hosts on a LAN

Answer: D

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipapp_fhrp/configuration/xe-16/fhp-xe-16-book/fhp-hsrp-mg

NEW QUESTION 62
- (Exam Topic 1)

Drag and drop the attack-mitigation techniques from the left onto the Types of attack that they mitigate on the right.

Answer Area

configure 802.1x authenticate

configure DHCP snooping

configure the native VLAN with a
nondefault VLAN ID

disable DTP

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Answer Area

802.1q double-tagging VLAN-hopping
attack

MAC flooding attack

man-in-the-middle spoofing attack

switch-spoofing VLAN-hopping attack

configure the native VLAN with a
configure 802.1x authenticate nondefault VLAN ID
configure DHCP snooping configure 802.1x authenticate
configure the native VLAN with a
nondefault VLAN ID configure DHCP snooping
disable DTP disable DTP

NEW QUESTION 63
- (Exam Topic 1)
What is a characteristic of a SOHO network?
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A. connects each switch to every other switch in the network

B. enables multiple users to share a single broadband connection

C. provides high throughput access for 1000 or more users

D. includes at least three tiers of devices to provide load balancing and redundancy

Answer: B

NEW QUESTION 67

- (Exam Topic 1)

An engineer is asked to protect unused ports that are configured in the default VLAN on a switch.
Which two steps will fulfill the request? (Choose two)

A. Configure the ports in an EtherChannel.

B. Administratively shut down the ports

C. Configure the port type as access and place in VLAN 99
D. Configure the ports as trunk ports

E. Enable the Cisco Discovery Protocol

Answer: BC

NEW QUESTION 68
- (Exam Topic 1)
Which implementation provides the strongest encryption combination for the wireless environment?

A. WPA2 + AES
B. WPA + AES
C. WEP

D. WPA + TKIP

Answer: A
NEW QUESTION 72

- (Exam Topic 1)
Refer to the exhibit.

Router1 Router2 —

Site A

RouterZ#show ip route
Gateway of last resort i1s not sel

10 0.0.0/8 1s vanably subnetted, 4 subnets, 2 masks
C 10 10.10.8/30 1s directly connected, Fasttthemet(/2
C 1010 10.12/30 s directly connected, | astEthemet(/1
0 1010 13.0/25[110/11)wia 10.10.10 9, 00 00 03, FastEthernet(/2
[110/11) wvia 10.10.10.13, 00:00 03, FastEthemet(/1
C 10.10.10.4/30 1s directly connected, FastEthemet(/2

If OSPF Is running on this network, how does Router2 handle traffic from Site B to 10.10.13.128/25 at Site A?

A. It load-balances traffic out of Fa0/1 and Fa0/2.
B. It is unreachable and discards the traffic.

C. It sends packets out of interface FaO/2.

D. It sends packets out of interface Fa0/1.

Answer: B

NEW QUESTION 76

- (Exam Topic 1)

which purpose does a northbound API serve in a controller-based networking architecture?
A. communicates between the controller and the physical network hardware

B. reports device errors to a controller

C. generates statistics for network hardware and traffic

D. facilitates communication between the controller and the applications

Answer: D

NEW QUESTION 80
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- (Exam Topic 1)
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.

A. Mastered
B. Not Mastered

Answer: A

m
X
j=1
Q
>
5
o
>

NEW QUESTION 84
- (Exam Topic 1)
Refer to the exhibit.

L5
i

After the election process what is the root bridge in the HQ LAN?

Swilch 1 OCED3E 6B 1677
Switch 2 OCOE 16 Z21AB1
Switch 3 0C.0E 151D 3C 94
Seich 4 0C.E0 15 A1.4D:18
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A. Switch 1
B. Switch 2
C. Switch 3
D. Switch 4

Answer: C

Explanation:
The root bridge is determined by the lowest bridge ID, which consists of the priority value and the MAC address. Because the priority values of all of the switches
are not avalable, the MAC address is used to determine the root bridge. Because S3 has the lowest MAC address, S3 becomes the root bridge.

NEW QUESTION 85
- (Exam Topic 1)
What is the purpose of traffic shaping?

A. to mitigate delays over slow links

B. to provide fair queuing for buffered flows

C. to limit the bandwidth that a flow can use to

D. be a marking mechanism that identifies different flows

Answer: B
Explanation:

Traffic shaping retains excess packets in a queue and then schedules the excess for later transmission over increments of time.

NEW QUESTION 88
- (Exam Topic 1)
Drag and drop the functions of DHCP from the left onto any of the positions on the right Not all functions are used

provides local control for nebwork Segments usng & Chent-Sarver
schame

reduies the admmstratve Durden for onboarding end usens 2

assocutes hostnames 1o [P dddresses J

maintaing an Mdress pool 4

Fngns [P addressas to local hosts
for 3 configurable lease tma

offers doman name server Configuration

uses authortative servers for record keeping

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 89

- (Exam Topic 1)

Which state does the switch port move to when PortFast is enabled?
A. forwarding

B. listening

C. blocking

D. learning

Answer: A

NEW QUESTION 93
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- (Exam Topic 5)

Guidelines
i [ 1 1 K
« Refer o the Tasks lab 10 view t

« Refer 1o the Topology lab 1o access th

I =k f
. Wi b & dLlLSas 2 AdVaIQLNG - |

n
LY 1 essanry nrecont

LI MHOE 1

» Save vour configurations (o NVEAM
« Click Next al the bottom of the scr
« When Next is clicked, the lab clo

All physical cabling between the two switches is installed. Configure the network connectivity between the switches using the designated VLANs and interfaces.

* 1. Configure VLAN 100 named Compute and VLAN 200 named Telephony where required for each task.

* 2. Configure Ethernet0/1 on SW2 to use the existing VLAN named Available.
* 3. Configure the connection between the switches using access ports.

* 4. Configure Ethernet0/1 on SW1 using data and voice VLANS.
* 5. Configure Ethemet0/1 on SW2 so that the Cisco proprietary neighbor discovery protocol is turned off for the designated interface only.

S m———

VLAN

"Available”

e0n

SW1_
LEE 0 20/0 VLAN 100 e0/0 S5 ES
. -
T
e0/1
VLAN 100
VLAN 200

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Answer as below configuration:
on swl enable conf t vlan 100
name Compute vian 200

name Telephony int e0/1

switchport voice vlan 200 switchport access vlan 100 int e0/0

switchport mode access do wr
on sw2

Vlan 99

Name Available Int e0/1
Switchport access vlan 99 do wr

NEW QUESTION 96
- (Exam Topic 5)

Guidatines Topology Tasks
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Lot: 192.168.3.1
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Guidelines Topalogy Tasks
Guidelines :
This is a |ab ilem in which tasks will be performed on virtual devices
+ Rafer to the Tasks tab to view the tasks for this lab item
= Hefer to the Topelogy tab to access the device console(s) and perform the tasks
« Console access is available for all required devices by clicking the device icon or using
the tabis) above the console window
« All necessary preconfligurations have been applied
« Do not change the enabla password or hostnamea for any device
» Save your configurations to NVEAM baefore moving o the next item
» Click Next at the bottom of the screen to submit this lab and move o the next question
+« When Mext is clicked, the lab closes and cannot be reopened

Connectivity between three routers has been established, and IP services must be configured jn the order presented to complete the implementation Tasks
assigned include configuration of NAT, NTP, DHCP, and SSH services.

* 1. All traffic sent from R3 to the R1 Loopback address must be configured for NAT on R2. All source addresses must be translated from R3 to the IP address of
Ethernet0/0 on R2, while using only a standard access list named NAT To verify, a ping must be successful to the R1 Loopback address sourced from R3. Do not
use NVI NAT configuration.

* 2. Configure R1 as an NTP server and R2 as a client, not as a peer, using the IP address of the R1 Ethernet0/2 interface. Set the clock on the NTP server for
midnight on January 1, 2019.

* 3. Configure R1 as a DHCP server for the network 10.1.3.0/24 in a pool named TEST. Using a single command, exclude addresses 1-10 from the range.
Interface Ethernet0/2 on R3 must be issued the IP address of 10.1.3.11 via DHCP.

* 4, Configure SSH connectivity from R1 to R3, while excluding access via other remote connection protocols. Access for user root and password Cisco must be
set on router R3 using RSA and 1024 bits. Verify connectivity using an SSH session from router R1 using a destination address of 10.1.3.11. Do NOT modify
console access or line numbers to accomplish this task.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Answer as below configuration:

conft

R1(config)#ntp master 1

R2(config)#ntp server 10.1.2.1 EXxit

Router#clock set 00:00:00 jan 1 2019 ip dhcp pool TEST
network 10.1.3.0 255.255.255.0

ip dhcp exluded-address 10.1.3.1 10.1.3.10 R3(config)#int e0/3
R3(config)#int e0/2 ip address dhcp

no shut

crypto key generate RSA 1024

Copy run start

NEW QUESTION 100

- (Exam Topic 5)

Physical connectivity is implemented between the two Layer 2 switches, and the network connectivity between them must be configured

* 1. Configure an LACP EtherChannel and number it as 1; configure it between switches SW1 and SVV2 using interfaces Ethernet0/0 and Ethernet0/1 on both
sides. The LACP mode must match on both ends

* 2. Configure the EtherChannel as a trunk link.

* 3. Configure the trunk link with 802.1 q tags.

* 4. Configure the native VLAN of the EtherChannel as VLAN 15.
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Gui?}elines

This 1= a3 lab item in which tasks will be performed on vitual dewvices.

« Refer to the Tasks tab to view the tasks for this lab tem

« Heferto the Topology tab to access the dewvice console(s) and perform the tasks.

» Console access s avallable for all required devices by clicking the device icon or using the tab(s)
above the console windaow

» All necessary preconfigurations have been apphed

« Do not change the enable password or hostname for any device,

» Save your configurations to NVRAM before moving to the next item.

» Click Next at the bottom of the screen to submit this lab and move to the next question.

s When Mext s clicked, the lab closes and cannot be reopened.

Guidelines Topology Tasks SVY1 oWV

SW1 E0/0 ) E0/O sw2
- -

P - A| -_— =

LV “WRy
e '\,.. — C| -
-/' N E0/1 P EO/1 f N

. W . -

Native Vlan 15
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Answer as below configuration:

On SW1:

conf terminal vlan 15

exit

interface range eth0/0 - 1 channel-group 1 mode active exit
interface port-channel 1

switchport trunk encapsulation dotlqg switchport mode trunk
switchport trunk native vlan 15 end

copy run start on SW2: conf terminal vlan 15

exit

interface range eth0/0 - 1 channel-group 1 mode active exit
interface port-channel 1

switchport trunk encapsulation dotlq switchport mode trunk
switchport trunk native vlan 15 end

copy run start

NEW QUESTION 104
- (Exam Topic 5)
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Guidslinas Topology Tasks

Guidelines

This 15 a lab ibem &1 which tasks will De parformaed on wirlual dovices,

+ Refer to ihe Tasks tab o view the tasks for this lab fem
= Ralel to the Topology iab 1o access the device consaie(s) and parform the tasks
« Consolo access is available for all required devices by clicking the device icon or using

the tab{s} above the consale window

» Al necessary preconfigurabons have bean applied
» Do nof change the enabile password or hostnama for any device

s Save your confliguralions 1o NVRAM before moving 1o the next item

= Lhek Next at the: boltom of the screan lo submul thes lab and move 1o the next question,
« Wnon Next is clicked. the lab closes and cannot bo rosoaned,
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Guidelnos Topology Tasks

@ Q  q
_ Internet

g 172.20.20.1 2825

s

T 254
100 10 1 [}
E0 |
3
EQO
i
10.10.13.0024
EQD
1 En2 10.10.12. 12825 E0:2
A29 130
LO:10.10.1.1/32 1 2 .
' 10 L0 1 9% EO'Q
Eovi L1010 ] 20020 ED/l s
10, 10,31 0
EQ.0
|
LAN
EQ/L; 1921680 1724

IP connectivity and OSPF are preconfigured on all devices where necessary. Do not make any changes to the IP addressing or OSPF. The company policy uses
connected interfaces and next hops when configuring static routes except for load balancing or redundancy without floating static. Connectivity must be
established between subnet 172.20.20.128/25 on the Internet and the LAN at 192.168.0.0/24 connected to SW1:

* 1. Configure reachability to the switch SW1 LAN subnet in router R2.

* 2. Configure default reachability to the Internet subnet in router R1.

* 3. Configure a single static route in router R2 to reach to the Internet subnet considering both redundant links between routers R1 and R2. A default route is NOT
allowed in router R2.

* 4, Configure a static route in router R1 toward the switch SW1 LAN subnet where the primary link must be through Ethernet0/1. and the backup link must be
through Ethernet0/2 using a floating route. Use the minimal administrative distance value when required.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Answer as below configuration:

On R2:

Enable Conf t

Ip route 192.168.1.0 255.255.255.0 10.10.31.1
On R1:

Enable Conf t

Ip route 0.0.0.0 0.0.0.0 10.10.13.3

On R2

Ip route 172.20.20.128 255.255.255.128 e0/2

Ip route 172.20.20.128 255.255.255.128 e0/1
OnR1

Ip route 192.168.0.0 255.255.255.0 e0/1

Ip route 192.168.0.0 255.255.255.0 10.10.12.2 3
Save all configurations after every router from anyone of these command Do wr
Or

Copy run start

NEW QUESTION 105
- (Exam Topic 4)
A network engineer is implementing a corporate SSID for WPA3-Personal security with a PSK. Which encryption cipher must be configured?

A. GCMP2S6
B. GCMP128
C. CCMP256
D. CCMP128

Answer: D

NEW QUESTION 109

- (Exam Topic 4)

What must a network administrator consider when deciding whether to configure a new wireless network with APs in autonomous mode or APs running in cloud-

based mode?

A. Autonomous mode APs are less dependent on an underlay but more complex to maintain than APs in cloud-based mode.
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B. Cloud-based mode APs relay on underlays and are more complex to maintain than APs in autonomous mode.
C. Cloud-based mode APs are easy to deploy but harder to automate than APs in autonomous mode.
D. Autonomous mode APs are easy to deploy and automate than APs in cloud-based mode.

Answer: A

NEW QUESTION 114

- (Exam Topic 4)
Drag and drop the statements about AAA services firm the left onto the corresponding AAA services on the right Not all options are used.
Brounhing
I orants acoess 1O ety 5SS such &t I TP sereers r
It by thee setvire= Fvdilatds to 5§ e
It pestorms ofer valuladfion vwa TRCADS e
It recoves the durghon of each connecton

It supoorty Ulwer Access Reporimg

11w il -'|-'|'|l- WLE) A4

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1&6 authentication
2&4 authorization

NEW QUESTION 116
- (Exam Topic 4)
Which two transport layer protocols carry syslog messages? (Choose two.)

A. TCP
B.IP

C.RTP
D. UDP
E. ARP

Answer: AD
NEW QUESTION 121

- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.

Global Unicast Address

provides one-to-many communications

has a unicast source sent to a group

Multicast

enables aggregation of routing prefixes

is routable and reachable via the Internet

A. Mastered
B. Not Mastered

Answer: A

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

Explanation:

provides one-to-many communications

| enables aggregation of routing prefixes

is routable and reachable via the Internet

NEW QUESTION 124
- (Exam Topic 4)

Global Unicast Address

T~ ik | B A T P i o S A el i o Rl i I - A | T il -,

After a recent security breach and a RADIUS failure, an engineer must secure the console port of each enterprise router with a local username and password.

Which configuration must the engineer apply to accomplish this task?

aaa new-model

line con 0

passward plaintextpassword
privilege level 15

username localuser secrat plaintextpassword

ling con 0
legin authentlcation default
privilege lavel 15

username localuser sacret plaintextpassword

line con 0
na lagin local
privilege lewel 15

aaa naw-model
aaa authorization exec defaull local

233 authentication login default radlus
username localuser privilege 15 secret plaintextpassword

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 128
- (Exam Topic 4)

What is a function of the core and distribution layers in a collapsed-core architecture?

A. The router must use IPv4 and IPv6 addresses at Layer 3.

B. The core and distribution layers are deployed on two different devices to enable failover.
C. The router can support HSRP for Layer 2 redundancy in an IPv6 network.

D. The router operates on a single device or a redundant pair.

Answer: D

Explanation:

The core and distribution layers are collapsed into one layer in a collapsed-core architecture, and this layer operates on a single device or a redundant pair. This
layer is responsible for the routing between the access layer and the WAN, as well as providing redundancy.

NEW QUESTION 129
- (Exam Topic 4)
Refer to the exhibit.
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Rapid PVST+ mode is on the same VLAN on each switch. Which switch becomes the root bridge and why?

A. SW2, because its MAC address is the highest

B. SW3, because its priority is the highest

C. SW4, because its priority is highest and its MAC address is lower

D. SW1, because its priority is the lowest and its MAC address is higher

Answer: B
NEW QUESTION 132

- (Exam Topic 4)
Refer to the exhibit.

CFEL) show protocols =0/1
Etharnatd/1 is op, line provtocol is up
Intarnet address is 10.0.12.3/24

CFELD show 1p access-list LAN
Standard IF access list LAN
10 parmit 10.0.12.0. wildcard bits 0.0.0.253

CPELS show ip nat translations

CFELN show 1p nat statiaticas
Total active translations: 0O (0 static, O dynamic; 0 sxtandsd)
Peak translations: 0
Outsids Anterfaces:
Inside interfaces
Ethernetd/1
Hita: 0 Missan: 0
CEF Tranalated packets: 0O, CEF Punted packets: 0
Expired translations: O
Dynamic mappings
== Inelids Source
[Id: 1] accass-list LAN pool NATPODL reafcount 0
pool HATPOOL: neatmask £33.233.233.0
start 198.31.100.11 end 19%8.31.100.20
typs genaric, total addressas 10, allocated O (Q%), misses O

Total doors: 0
Appl doora: 0
Noraal doors: 0
Suevesd Pacheta: D

What is the next step to complete the implementation for the partial NAT configuration shown?

A. Reconfigure the static NAT entries that overlap the NAT pool
B. Configure the NAT outside interface

C. Modify the access list for the internal network on e0/1

D. Apply the ACL to the pool configuration

Answer: A

NEW QUESTION 134
- (Exam Topic 4)
Refer to the exhibit.
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Router 1 Router 1

S0
$0.0
192.168.0.130 192.168.0.2/30

Server
Swntch 1

Gil'l
101010124 g

10.10.10.224

£

10.10.10. 1024

A network engineer must configure router R1 with a host route to the server. Which command must the engineer configure?

A. R1(conftg)#lp route 10.10.10.0 255.255.255.0 192.168.0.2

B. R1(Config)#lp route 10.10.10.10 265.255.255.255 192 168.0.2
C. R1(config)#ip route 192.168.0.2 255.255.255.255 10.10.10.10
D. R1(config)3|p route 0.0.0.0 0.0 0.0 192 168.0.2

Answer: B

NEW QUESTION 135
- (Exam Topic 4)

Drag and drop the IPv6 address types from the left onto their description on the right.

1

2001.088; :boed 1234 4554 aace

multc a9t address used only acally within the ste

FDOO:0000.0000. 122d-2153:3992:2194.¢(ca

endbled on 3n mterface

ddoress that s automaticaly crested on 4 bnk when [Pve 5

FEBO: :abctl: M. 12de: 3992

address that s prohbdted from routing Lo the [ntern

Wl

A. Mastered
B. Not Mastered

Answer: A

Explanation:

['_-_-"_'-___-_-_'-'_'__-_-_'-_-—-_-"_"I'

2001 088 boed: 1 2344564 adcc I

FFOS::23:bech22:1111 ‘ addrass that = unigue and resanved for documentation purposas

—

FDOO:0000:0000: 1a2¢:2153:3992-2194: ceca 1 |

FEBD: :abcl - TP¥_12de: 3592

FEBO: :abcf MW 12de 3992

W AN W W WS W W W WA W NN W T W

B e e e

e ———— gl R T

NEW QUESTION 140
- (Exam Topic 4)
How does frame switching function on a switch?

A. forwards frames to a neighbor port using CDP

B. modifies frames that contain a known source VLAN

C. inspects and drops frames from unknown destinations
D. forwards known destinations to the destination port

Answer: D

NEW QUESTION 144

- (Exam Topic 4)

Which is a fact related to FTP?

A. It uses block numbers to identify and mitigate data-transfer errors
B. It always operates without user authentication
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C. It relies on the well-known UDP port 69.
D. It uses two separate connections for control and data traffic

Answer: D
NEW QUESTION 145

- (Exam Topic 4)
Refer to the exhibit.

10.00.0/30
1 Int GO/O Int GO/Q 2
V1 i orestaton 113 address Int GO/
PC 1 Q0 2079 60 68 00
AT 28-39-20- 343201
v gl 3 Cr ;'\\.f TCr &E BB -';.:
PC 4 )0 50 TQ AR BR A4

Int GOV2

Int GOV3

Int GO/2 l Int GO/ tl

-

= _!ll -

PC1  PC2 PC3 PCA4
100.1.0 /24 100 20 724

An engineer must configure the interface that connects to PC 1 and secure it in a way that only PC1 is allowed to use the port No VLAN tagging can be used
except for a voice VLAN. Which command sequence must be entered to configure the switch?

A)

SW1(config-if&rswitchport mode nonegotiate

SW1lconfig-iT#switchport port-security

SW1conhg-If 2switchport port-security maximum 1

B)

SWiconhg-if=switchport mode access
SW1 {conhg-ifFswitchport port-security
5W1{config-f#switchport port-security mac-address 0050.7966.6800

C)

SW1{config-if#sswitchport mode dynamic auto
SW1(config-iTFswitchport port-security
SW1(config-ifFswitchpeort port-security violation restrict
D)

SWconfig-NEswitchport mode dynamic desirable
SW [config-fEswitchport port-security mac-address 0050, 79666800
SW [ config-iNEswitchport port-security mac-address sticky

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 148

- (Exam Topic 4)

An administrator must use the password complexity not manufacturer-name command to prevent users from adding “cisco” as a password. Which command must
be issued before this command?

A. Password complexity enable

B. confreg 0x2142

C. Login authentication my-auth-list
D. service password-encryption

Answer: A

NEW QUESTION 153

- (Exam Topic 4)

Why is TCP desired over UDP for application that require extensive error checking, such as HTTPS?

A. UDP operates without acknowledgments, and TCP sends an acknowledgment for every packet received.

B. UDP reliably guarantees delivery of all packets, and TCP drops packets under heavy load.

C. UDP uses flow control mechanisms for the delivery of packets, and TCP uses congestion control for efficient packet delivery.

D. UDP uses sequencing data tor packets to arrive in order, and TCP offers trie capability to receive packets in random order.

Answer: A
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NEW QUESTION 154

- (Exam Topic 4)

Refer the exhibit.

R19#sh int fa0/0

FastEthernet0/0 is up, line protocol is up

Hardware is DEC21140, address is ca02.7788.0000 (bia ca02.7788.0000)
Description: SALES SUBNET

Internet address is 10.32.102.2/30

MTU 1500 bytes, BW 100000 Kbit/sec, DLY 100 usec,

reliability 255/255, txload 1/255, rxload 1/255

Encapsulation ARPA, loopback not set

Keepalive set (60 sec)

Full-duplex, 100Mb/s, 100BaseTX/FX

ARP type: ARPA, ARP Timeout 04:00:00

Last input 00:00:01, output 00:00:00, output hang never

Last clearing of "show interface” counters never

Input queue: 0/300/0/0 (size/max/drops/flushes); Total output drops:
135298429

Queueing strategy: fifo

Output queue: 0/300 (size/max)

30 second input rate O bits/sec, 0 packets/sec

30 second output rate 0 bits/sec, 0 packets/sec

73310 packets input, 7101162 bytes

Received 73115 broadcasts (0 IP multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 4 CRC, 0 frame, 0 overrun, 0 ignored

0 watchdog

0 input packets with dribble condition detected

3927513096455 packets output, 14404034810952 bytes, 0 underruns
0 outout errors. 11 collisions. 0 interface resets

What is the cause of poor performance on router R19?

A. excessive collisions

B. speed and duplex mismatch
C. port oversubscription

D. excessive CRC errors

Answer: A

NEW QUESTION 156

- (Exam Topic 4)

By default, how long will the switch continue to know a workstation MAC address after the workstation stops sending traffic?
A. 200 seconds

B. 300 seconds

C. 600 seconds

D. 900 seconds

Answer: B

NEW QUESTION 158

- (Exam Topic 4)
Refer to Itie exhibit

SW# conf t

SW(config) #interface gigabitEthernet(0/1
SW(config-if) #switchport mode access
SW(config-if) #switchport port-security
SW(config-if)#

A network engineer started to configure port security on a new switch. These requirements must be met:

* MAC addresses must be learned dynamically

* Log messages must be generated without disabling the interface when unwanted traffic is seen Which two commands must be configured to complete this task"?
(Choose two)

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\"/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

A. SW(ccnfig-if)=switchport port-security mac-address sticky

B. SW(confKj-if)=switchport port-security violation restrict

C. SW(config.if)sswitchport port-security mac-address 0010.7B84.45E6
D. SW(config-ifjaswitchport port-security maximum 2

E. SW(ccnfig-if)=switchport port-security violation shutdown

Answer: C

NEW QUESTION 160
- (Exam Topic 4)

Drag and drop the TCP or UDP details from the left onto their corresponding protocols on the right.

TP

L] IO (eiAty S Tilied Desfoyiedny (Enidies

J..:II--I,1rI'1 T ] = EE (. i W LAy

ProadOes Desl et

LDy

suppu Ty relialis dala b ansrmibsdon

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 165
- (Exam Topic 4)

Which command do you enter so that a switch configured with Rapid PVST + listens and learns for a specific time period?

A. switch(config)#spanning-tree vlan 1 max-age 6

B. switch(config)#spanning-tree vlan 1 hello-time 10
C. switch(config)#spanning-tree vlan 1 priority 4096

D. switch(config)#spanning-tree vlan 1 forward-time 20

Answer: D

Explanation:

Forward time : Determines how long each of the listening and learning states last before the port begins forwarding.

Switch(config)# [ no ] spanning-tree vlan vlan_ID forward-time forward_timeConfigures the forward time of a VLAN. The forward_time value can be from 4 to 30

seconds.

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/15-02SG/configurat ion/guide/config/spantree.html#56177

NEW QUESTION 170
- (Exam Topic 4)

Drag and drop the elements of a security program from the left onto the corresponding descriptions on the right.
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awareness

document that outlines an organization’s
security goals and practices and the
roles and responsibilities of the
organization’s personnel

education

tactical document that sets out specific
tasks and methods to maintain security

security policy

user-awareness learning level that
focuses on learning about topics and
practices beyond what is typically
required by the user’s job

security standard

user-awareness learning level
that focuses on security
practices that all employees
must understand and enforce

training

user-awareness learning level that
focuses on teaching employees how to
perform tasks specifically required by
their jobs

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated

https://www.ciscopress.com/articles/article.asp?p=1998559&seqNum=3

NEW QUESTION 172
- (Exam Topic 4)
Refer to the exhibit.

SWl#show run

hostname SW1
1

interface Vlianl0

'
line vty 0 4

login local

transport input telnet
line vty 5 15

login local

transport input telnet

Building configuration...

ip domain-name CCNA-test

interface FastEthernet0/1
switchport access vlan 10

username CCNA privilege 1 password 0 ciscol23

ip address 192.168.1.2 255.255.255.0

SWl#show crypto key mypubkey rsa
t Key pair was generated at:
Key name: SW1l.CCNA-test

0:1:23 UTC Mar 1 2020

An engineer is updating the management access configuration of switch SW1 to allow secured, encrypted remote configuration. Which two commands or
command sequences must the engineer apply to the switch? (Choose two.)
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A. SW1(config)#enable secret ccnaTest123

B. SW1(config)#username NEW secret R3motel23

C. SW1(config)#line vty 0 15 SW1(config-line)#transport input ssh
D. SW1(config)# crypto key generate rsa

E. SW1(config)# interface fO/1 SW1(confif-if)# switchport mode trunk

Answer: CD

NEW QUESTION 174
- (Exam Topic 4)
What is the purpose of configuring different levels of syslog for different devices on the network?

A. to rate-limit messages for different seventy levels from each device

B. to set the severity of syslog messages from each device

C. to identify the source from which each syslog message originated

D. to control the number of syslog messages from different devices that are stored locally

Answer: B
NEW QUESTION 178

- (Exam Topic 4)
Refer to the exhibit.

“"Test Questions” [
*ARutomatiaon”
*Configuration”™,

]

“Test_Exam Lavel” [
“COMA" ,
"CCNP™ ,

]

“Test_Rasponss” |
*Correct”™
“Incorrect” ,

How many objects, Keys and JSON list values are present?

A. three objects, two Keys, and three JSON list values
B. three objects, three keys and two JSON Ml values
C. one object, three keys, and three JSON list values
D. one object, three keys and two JSON list values

Answer: C
NEW QUESTION 181

- (Exam Topic 4)
Refer to the exhibit.

R1f show ip routs | besgin gataway

Gateway of last resort is not sat

172.16.0.0/16 is variably subnetted, 5 subneta, 5 masks

172.16.2.126/25% [110/3184437) wvia 207.165.200.250, 00:00:25, Serial0/0/0
172.16.3. 64727 [110/3184437) via 207.165.200.250, 00:00:25, Seriald/0/0
172,16 . 3. 128/28 [110/3184437) wia 207.165,200.25%0, 00:00:2%, Seriald/ 0/0
172.16.%.192/2% [110/3184437) wia 207.185,.200.25%0, 00:00:25, Serial0/0/0
172.16. 40723 [110/3184437) wia 207.16%.200.2%0, 00:00:25%, Sariald/0/0
207.165.200.0/24 is wvariably subnetted, 4 subnets, I masks
207.165.200.248/30 is directly connected, Seriall/0/0

207.165.200.249/732 is directly connected, Seriald/0/0

207.165.200.252/30 is directly connectad, Sariall/0/1

Z07.163%.200.233/32 ia directly connectad, SsrialQ0,/0/1

8000

" AN

Drag and drop the learned prefixes from the left onto the subnet masks on the right

B 5 "

172.16..128 | 255.255.254.0
Y 7
172.16.3.64 255255 255.128
| 1
172.16.2.128 795,255 235.224
|
172.16.3.182 255.255.255.240
1
| 172.164 233-155.255.248

A. Mastered
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B. Not Mastered

Answer: A
Explanation:
N Y et = Py ot N |'_ A
[72.16.2.128 | 172.164
;._.—__—__-_-_.__._—_—_-._-._—_.__-_-—-_—I - e e wes wew wew mmw mes e e s s s we— o
1 T 1E.7 &4 | :
p... . : e . ) | SR
r 2.16.2.128 | 172.16.3 54
e i S e s e e 1
= - i - - ™
i 172.16.3.192 | 172.16.3.128 I
. B N i o T TR S| R |
: i
i | s I r'!l_| - - -|:-'l|
i 172.15.4 i 172.16.3.152
NEW QUESTION 186
- (Exam Topic 4)
Refer to the exhibit.
17216 00 /30

Int GOVO Int GO/O

u Int GO/1 Int GO/

172.16.0.4 /30

Router OSPF 200 Router OSPF 200 i |
Metwork 177216 000003 MNelwork 172 16000003 ? .
Network 17216100003  Network 172 16.2 0 0.0.0.31 @

J@

? — ?
Workstations Workstations
172.16.1.0 /24 172.16.20/27

The primary route across Gi0/0 is configured on both routers. A secondary route must be configured to establish connectivity between the workstation networks.

Which command set must be configured to complete this task?
A)

R1

ip route 172.16.2.0 255.255.255.240 172.16.0.2 113

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.1 114
B)

R1
ip route 172.16.2.0 255.255.2565.240 172.16.0.5 89

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.6 89
©)
TR
ip route 172.16.2.0 255.255.255.248 172.16.0.5 110
Rz
ip route 172.16.1.0 255.2556.2566.0 172.16.0.6 110
D)
R1
ip route 172.16.2.0 255.255.255.224 172.16.0.6 111

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.5 112

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

NEW QUESTION 190
- (Exam Topic 4)

100, 101, 102, 103

802.1

= |

m Lobby Conference Room
Access port

vLAN 100
D000 abcd. 0002

MACL

SW1 supports connectivity for a lobby conference room and must be secured. The engineer must limit the connectivity from PCI lo ma SW1 and SW2 network.
The MAC addresses allowed must be Limited to two. Which configuration secures the conference room connectivity?
A)

interface giv/0/15
switchport port-security mac-address 0000.abcd 0004 vian 100

B)

interface gi1/0/15s

switchport port-security

switchport port-security maximum 2
C)

inmterface gi1/0/M15
switchport port-security mac-address 0000 abcd 0004 vian 100
Inmterface switchport secure-mac lmit 2

D)

interface gi1/0/18
switchpor port-security
switchport port-security mac-address 0000 abcd 0004 vian 100

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 193
- (Exam Topic 4)
What describes a northbound REST API for SON?

A. application-facing interface for SNMP GET requests

B. network-element-facing interface for GET POST PUT and DELETE methods
C. network-element-facing interface for the control and data planes

D. application-facing interface far GET, POST, PUT, and DELETE methods

Answer: D

NEW QUESTION 195
- (Exam Topic 4)
Which WAN topology has the highest degree of reliability?

A. full mesh

B. Point-to-point

C. hub-and-spoke
D. router-on-a-stick

Answer: A

NEW QUESTION 197
- (Exam Topic 4)
Which set of 2.4 GHz nonoverlapping wireless channels is standard in the United States?

A. channels 2,7, 9, and 11
B. channels 1, 6, 11, and 14
C. channels 2, 7, and 11

D. channels 1, 6, and 11
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Answer: D

Explanation:

In the United States, while channels 1-13 can be used for 2.4 GHz WiFi, only three channels are considered non-overlapping (channels 12 and 13 are allowed
under low powered conditions, but for most cases are not used). For best results, it is highly recommended to keep the 2.4 GHz channels to 1, 6, and 11, as these
channel settings will allow for virtually no overlap in the WiFi signal. Shown below is a channel graph from WiFi Scanner showing three access points configured
for channels 1, 6, and 11. As you can see, the center of each signal is at 1, 6, and 11 with the actual signal extending over several channels to the left and right.

NEW QUESTION 201
- (Exam Topic 4)
What is a characteristic of RSA?

A. It uses preshared keys for encryption

B. It requires both sides to have identical keys
C. It is a private-key encryption algorithm

D. It is a public-key cryptosystem

Answer: D

NEW QUESTION 206
- (Exam Topic 4)
What is a reason to implement IPv4 private addressing?

A. Reduce the risk of a network security breach

B. Comply with PCI regulations

C. Comply with local law

D. Reduce the size of the forwarding table on network routers

Answer: D

NEW QUESTION 211
- (Exam Topic 4)
Which protocol is used in Software Defined Access (SDA) to provide a tunnel between two edge nodes in different fabrics?

A. Generic Router Encapsulation (GRE)
B. Virtual Local Area Network (VLAN)
C. Virtual Extensible LAN (VXLAN)

D. Point-to-Point Protocol

Answer: C

NEW QUESTION 215

- (Exam Topic 4)

Drag and drop the characteristic from the left onto the IPv6 address type on the right.

iGlobal Unicast Address

required on all IPvé devices

Link-Local Address

& publicly routable in the same way as [Pv4 addresses

proviges for one-to-one communication

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 218
- (Exam Topic 4)
Refer to the exhibit An IPv6 address must be obtained automatically on the LAN interface on R1 Which command must be implemented to accomplish the task?
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Int GO/O

Int GO/0

.

ppund
T

Workstations
2001:DB8:D8D2:1009:./64

File
Server

DHCPvG
Server

2001:DB8:D8D2:1008::/64

A. Ipv6 address 2001:dbB:d8d2:1008:4343:61:0010::/64
B. Ipv6 address autoconfig

C. Ipv6 address fe80::/10

D. Ipv6 address dhcp

Answer: B

NEW QUESTION 220
- (Exam Topic 4)
Which two server types support dornas name to IP address resolution? (Choose two >

A. ESX host

B. resolver

C. web

D. file transfer
E. authentication

Answer: AC

NEW QUESTION 225
- (Exam Topic 4)

Drag and drop the AAA features from the left onto the corresponding AAA security services on the right. Not all options are used.

Answer Area

It enables the device to allow user- or group-based Accounting

acCess.

It leverages a RADIUS server to grant user access

to a reverse Telnet session.

It records the amount of time for which a user

accesses the network on a remote server. AiForaatan

It restricts the CLI commands that a user can
perform.

It uses TACACS+ to log the configuration

commands entered by a network administrator.

It venfies the user and password before granting
access to the device.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area

It enables the device to allow user- or group-based
dCCess.

It leverages a RADIUS server to grant user access
to a reverse Telnet session,

It records the amount of fime for which a user
accesses the network on a remaote server.

Accounting

It records the amount of time for which a user
accesses the network on a remote server.

It uses TACACS+ to log the configuration
commands entered by a network administrator.

It restricts the CLI commands that a user can
perform.

It uses TACACS+ to log the configuration
commands entered by a network administrator.

Authorization

It leverages a RADIUS server to grant user access
to a reverse Telnet session.

It restricts the CLI commands that a user can
perform.

It verifies the user and password before granting
access to the device.

NEW QUESTION 229
- (Exam Topic 4)
What is a similarity OM3 and OM4 fiber optical cable?

A. Both have a 62.5 micron core diameter.
B. Both have a 50 micron core diameter.
C. Both have a 100 micron core diameter.
D. Both have a 9 micron core diameter.

Answer: B
NEW QUESTION 230

- (Exam Topic 4)
Refer to the exhibit.

—
N 4 ——

Host A
10.10 14 10/24

Rl (config-router) #router ospf 1
Rl (config-router) #router-id 1.1.1.1

R1 has just received a packet from host A that is destined to host B. Which route in the routing table is used by R1 to reac B?

A. 10.10.13.0/25 [108/0] via 10.10.10.10
B. 10.10.13.0/25 [110/2] via 10.10.10.2
C. 10.10.13.0/25 [110/2] via 10.10.10.6
D. 10.10.13.0/25 [1/0] via 10.10.10.2

Answer: D

NEW QUESTION 235
- (Exam Topic 4)
Refer to the exhibit.

Passing Certification Exams Made Easy

Rl (config) #ip route 0.0.0.0 0.0.0.0 10.10.10.2

Rl (config)#ip route 10.10.13.0 255.255.255.128 10.10.10.2 111
Rl (config)#ip route 10.10.13.0 255.255.255.128 10.10.10.6 112
Rl (config)#ip route 10.10.13.0 255.255.255.128 10.10.10.10 108

Rl (config-router) #network 10.10.10.5 0.0
Rl (config-router)#network 10.10.10.1 0.0

0.0
0.0 area
Rl (config-router)#network 10.10.14.1 0.0.0.0

Host B
10.10.13.10/25

area 0

oo

area
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10.100.1.0

An OSPF neighbor relationship must be configured using these guidelines:
* R1 is only permitted to establish a neighbor with R2
» R1 will never participate in DR elections
* R1 will use a router-id of 101.1.1. Which configuration must be used?
A)
interface Loopback0
ip address 10.1.1.1 255.255.255.255

interface FastEthernet0/0
ip address 10.100.1.1 255.255.255.252
ip ospf priarity 100
ip access-group 102 in

router ospf 10
log-adjacency-changes
network 10.1.1.1 0.0.0.0 area 0
network 10.100.1.0 0.0.0.3 area 0
ospf router-id 10.1.1.1

access-list 102 permit 88 host 10.100.1.2 host 224.0.0.5
access-ist 102 deny B8 any any
access-list 102 permit ip any any

B)
interface Loopback0
ip address 10.1.1.1 255.255 255,255

interface FastEthernet0/(
ip address 10.100.1.1 255.255.255.252
ip ospf priority 0
ip access-group 102 in

router ospf 10
log-adjacency-changes
network 10111 0.0.0.0 area 0
network 10.100.1.0 0.0.0.3 area 0
router-id 10.1.1.1

access-ist 102 permit 88 host 10.100.1.2 host 224.0.0.5
access-list 102 deny 88 any any
access-ist 102 permit ip any any

C)

fimterface FastEthe met0id
Ip @address 10.100.1.1 255.235.255.254
ip ospf priority 100
ip access-group 102 in

router ospl 10
log-adjacency-change
metwork 10.1.1.1 0.0.00
network 10, 100.1.0 0.0
ospl router-id 10.1.1.1

5
0aread
A0.Jarea 0

access-list 102 permit 29 host 10.100.1.2 host 224.0.0.5
access-list 102 deny 89 any any

access-hst 102 permmt ip any any

D)

interface FastEthe metin
ip address 10,100,1.1 255, 255,255,252
ip ospl priority 0
Ip access-group 102 in

router ospf 10
log-adjacency-changes
network 10.1.1.1 0.0.0.0 area 0
network 10.100.1.0 0.0.0.3 area 0

router-id 10.1.1.1

access-list 102 permit 82 host 10.100.1.2 host 224.0.0.5
access-list 102 deny 89 any any

access-list 102 permit ip any any

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 239
- (Exam Topic 4)
Drag and drop the Cisco IOS attack mitigation features from the left onto the types of network attack they mitigate on the right.
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DHCP sn0aming

o serves ol spoofs [P oonligusation

Dymemic ARP Inspection

cache pomsoning

IP Source Glond

flood attacks

sorm conkrol

PO Clirits O the ndfugrk

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Application Description automatically generated with medium confidence

NEW QUESTION 243
- (Exam Topic 4)

What are two disadvantages of a full-mesh topology? (Choose two.)

A. It needs a high MTU between sites.

B. It has a high implementation cost.

C. It must have point-to-point communication.
D. It requires complex configuration.

E. It works only with BGP between sites.

Answer: BD

NEW QUESTION 248
- (Exam Topic 4)

Drag and drop each characteristic of device-management technologies from the left onto the deployment type on the right.

relias on per-gavice managemeant

uses Individual software manragement

orchestrates background dewce corfiguration

supports open APIs

provides greater flexibxlity for custom and non-standard
configurations

supports centralzed software management

A. Mastered
B. Not Mastered

Answer: A
Explanation:

A picture containing diagram Description automatically generated

NEW QUESTION 252
- (Exam Topic 4)

Clsoo DNA Center

raditional

To improve corporate security, an organization is planning to implement badge authentication to limit access to the data center. Which element of a security

program is being deployed?
A. user training

B. user awareness
C. vulnerability verification
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D. physical access control

Answer: D

NEW QUESTION 257
- (Exam Topic 4)

An engineer is configuring router R1 with an IPv6 static route for prefix 2019:C15C:0CAF:E001::/64. The next hop must be 2019:C15C:0CAF:E002::1 The route

must be reachable via the R1 Gigabit 0/0 interface. Which command configures the designated route?

A. R1(config)#ipv6 route 2019:C15C:0CAF:E001::/64 2019:C15C:0CAF:E002::1
B. R1(config-if)#ipv6 route 2019:C15C:0CAF:E001::/64 2019:C15C:0CAF:E002::1
C. R1(config-if)#ip route 2019:C15C:0CAF:E001::/64 GigabitEthernet0/0

D. R1(config)#ip route 2019:C15C:0CAF:E001::/64 GigabitEthernet0/0

Answer: C

NEW QUESTION 262
- (Exam Topic 4)

Gil/0”2

A)

SW1

Bridge Priority - 32768
mac-address Od.ca:8e:7i:al:24

B)

S 2
Bridge Priority - 53248
mac-address 02:3e:ee:61:5b:21

®)

SW 4

Bridge Priarity - 32768
mac-address 07:c1:b7:27:dd: T3
D)

SW3

Bridge Priority - 53248
mac-address 02 .aa 03.d3.05 87

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 266
- (Exam Topic 4)
Drag and drop the HTTP methods used with REST-Based APIs from the left onto the descriptions on the right.
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

Table Description automatically generated

NEW QUESTION 269
- (Exam Topic 4)

DELETE Créates A resource and retums €5 URL o the response hedder

GET creztes or replaces a prevvpusly madhfied resounce using
nfarmation in the reguest body
POST FRMONVES d resource
|

PATCH retreyes & st of 5 resources URIs

ouT UPCEtES 3 1eoUlCE using Msruchions mduded
n the request body

10.0.0.0/30

Int GO0 2

H

-ay

— —
Workstations
10010724

S
"

—-:' —
Workstations
1002024

Refer to the exhibit. An engineer is asked to confére router R1 so that it forms an OSPF single-area neighbor relationship with R2. Which command sequence

must be implemented to configure the router?
mouler ospd 10
network 10.0.0.0 0.0.0.3 area 0
network 10.0.2.0 0.0.0.255 area 0

router ospf 10

network 10.0,0.0 0.0.0.3 area 0
network 10.0,1.0 0.0.0.255 area O
router ospl 100

network 10,0,0.0 0.0.0.3 area 0
netwcrk 10,0,2.0 255 255 255.0 area 0

router ospf 100
network 10.0,0.0 0.0.0.252 area O
network 10.0,1.0 000,255 area O

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: B

NEW QUESTION 271
- (Exam Topic 4)

In a cloud-computing environment what is rapid elasticity?

A. control and monitoring of resource consumption by the tenant

B. automatic adjustment of capacity based on need

C. pooling resources in a multitenant model based on need

D. self-service of computing resources by the tenant
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Answer: B

NEW QUESTION 275
- (Exam Topic 4)
Refer to Exhibit.

si1/0

Gil/0

=4

—

—
=

| - __.JH,:;_ Gil/l

Gil2

HHE

H
il
H

Gila

HO-5W| L_

—

(¥

Rotor to the exhibit. The IP address configurations must be completed on the DC-1 and HQ-1 routers based on these requirements:
DC-1 Gil/0 must be the last usable address on a /30 DC-1 Gil/1 must be the first usable address on a /29 DC-1 Gil/2 must be the last usable address on a /28

HQ-1 Gil/3 must be the last usable address on a /29
Drag and drop the commands from the left onto the destination interfaces on the right. Not all commands are used

ip adoress 192 16849 2505 255 5% ME

ip address 100 168,314 755 255 755 240

@ oddress 200,105 202,129 235.255,.250.2552

0 address 192 168.4. 13 255 255 255 240

DC-1

ip addvess 209.165.202. 130 255253 155252

ip addvess 209,165 202,131 255 255.055.252

P address 192.168.3. 14 55 755 255. M8

A. Mastered
B. Not Mastered

Answer: A

Explanation:

MO |

Graphical user interface, application Description automatically generated

NEW QUESTION 280
- (Exam Topic 4)

Which type of address is shared by routers in a HSRP implementation and used by hosts on the subnet as their default gateway address?

A. multicast address

B. loopback IP address
C. virtual IP address

D. broadcast address

Answer: C
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NEW QUESTION 284
- (Exam Topic 4)
Refer to the exhibit.

1

|

a Bl

'.IC_‘

IRTR-1
| interface Loopbackl
GO 17216162 Iir address 192.168.1.1 255.;

interface Loopback?

ip addrese 192.168.2.1 255.255.2°
!

interface Loopback3

ip address 19%Z.16%8 1 25

interface GigabitEthernet(

172.16.1.3327 | ip address 172.16.1.62 25,

Which configuration for RTR-1 deniess SSH access from PC-1 to any RTR-1 interface and allows all other traffic?

A)
access-list 100 deny tcp host 172.16.1.33 any eq 22
access-list 100 permit Ip any any

interface GigabitEthernet0/0
ip access-group 100 in
B)

access-list 100 deny tcp host 172.16.1.33 any eq 22
access-list 100 permit ip any any

line vty 0 15
access-class 100 In
C)

access-list 100 deny tcp host 172.16.1.33 any eq 23
access-list 100 permit ip any any

interface GigabitEthernet0/0
ip access-group 100 in

D)
access-list 100 deny tcp host 172.16.1.33 any eq 23
access-list 100 permit ip any any

line vty 0 15
access-class 100 in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 286
- (Exam Topic 4)
Refer to the exhibit.
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Routers R1 and R2 are configured with RIP as the dynamic routing protocol. A network engineer must configure R1 with a floating static route to serve as a backup

route to network 192.168.23. Which command must the engineer configure on R1?

A. ip route 192.168.23.0 255.255.255.0 192.168.13.3 100
B. ip route 192.168.23.0 255.255.255.0 192.168.13.3 121
C. ip route 192.168.23.0 255.255.255.255 192.168.13.3 121
D. ip route 192.168.23.0 255.255.255.0 192.168.13.3

Answer: B

NEW QUESTION 290
- (Exam Topic 4)
What is a function of MAC address learning?

A. Itis enabled by default on all VLANs and interfaces

B. It increases the potential for MAC address flooding.

C. It is disabled by default on all interfaces connected to trunks
D. It increases security on the management VLAN

Answer: A
NEW QUESTION 295

- (Exam Topic 4)
Refer to the exhibit.

10.10.2.024

Rl#show ip route 10.10.2.1
Routing entry for 10.10.2.0/24

Known via "ospf 1", distance 110, metric 2, type intra area
Last update from 192.168.1.2 on GigabitEthernet0/0, 01:23:15 ago
Routing Descriptor Blocks:
* 192.168.1.2, from 192.168.1.2, 01:23:15 ago, via GigabitEthernet(/0

Route metric 18 2, traffic share count is 1

Traffic from R1 to the 10.10.2.0/24 subnet uses 192.168.1.2 as its next hop. An network engineer wants to update the R1 configuration so that traffic with
destination 10.10.2.1 passes through router R3, and all other traffic to the 10.10.20/24 subnet passes through r2. Which command must be used?

A. Ip route 10.10.2.1 255.255.255.255 192.168.1.4 115
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B. Ip route 10.10.2.0 255.255.255.0 192.168.1.4 100
C. Ip route 10.10.2.0 255.255.255.0 192.168.1.4 115
D. Ip route 10.10.2.1 255.255.255.255 192.168.1.4 100

Answer: D

NEW QUESTION 296
- (Exam Topic 4)
A Cisco engineer at a new branch office is configuring a wireless network with access points that connect to a controller that is based at corporate headquarters

Wireless client traffic must terminate at the branch office and access-point survivability is required in the event of a WAN outage Which access point mode must be
selected?

A. Lightweight with local switching disabled
B. Local with AP fallback enabled

C. OfficeExtend with high availability disabled
D. FlexConnect with local switching enabled

Answer: C
NEW QUESTION 297

- (Exam Topic 4)
Refer to the exhibit.

['I MPLS A ,‘J Internet "r']
'\._;..." 3 - |
10.10.10.12730
[10.10.10.030| [10.10.10.4/30 |
Router 2 é RERer
Router 3 Router 4
Routerl#show ip route
Gateway of last resort 1s 10.10.11.2 to natwork 0.0.0.0
209.165.200.0/27 15 subnettad, 1 subnets
B 208.165.200.224 [20/0] wia 10.10.12.2, 03:22:14
209.165.201.0/27 is subnetted, 1 subnets
B 209.165.201.0 [20/0] via 10.10.12.2, 02:26:33
20%.165.202.0/27 1is subnettad, 1 subnets
B 209.165.202.128 [20/0] wia 10.10.12.2, 02:26:03
10.0.0.0/8 is variably subnetted, 10 subnets, 4 masks
0 10.10.13.0/25 [110/2] wia 10.10.10.1, 00:00:04, GigabitEtharnat0/0
o 10.10.13.128/28 [110/2)] wvia 10.10.10.5, 00:00:12, GigabitEthernetl/1
e} 10.10.13.144/28 [110/2] wia 10.10.10.%, 00:01:57, GigabitEthernet(/2
* 10,10.13,1€0/29 [110/2] vwia 10.10.10.5; Q0:00:12, GigabitEthernst(/1
0 10.10.13.208/29 [110/2] wia 10.10.10.13, 00:01:57, GigabitEthernet(/3
g 3.0.0.0/0 [1/0) wia 10.10.11.2

Drag and drop the destination IPs from the left onto the paths to reach those destinations on the right.

I |
11.1.1 | Router2
|
| 10.10.13.126 [ Router3
f 1
. 10.10.13.129 Routerd
| 10.10.13.150 RouterS
10.10.13.209 Intermet cloud
209.165.200.30 iPLS cloud

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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1.1.1.1 10.10.13.126
|
10.10.13.126 . 10.10.13.129
| |
____________________ - p—
10.10.13.129 10.10.13.150
— -
It 10.10.13.150 10.10.13.209
| [

| 10.10.13.200 l

| 209,165.200.30 l

NEW QUESTION 300
- (Exam Topic 4)
Refer to the exhibit.

R2#show ip ospf interface
GigabitEthernet0/0/0 is up,

. 209.165.200.30

line protocol is up

Internet address is 192.168.1.1/24, Area 0
Process ID 1, Router ID 192.168.1.1, Network Type BROADCAST, Cost: 1
Transmit Delay is 1 sec, State DROTHER, Priority 1

Designated Router (ID) 192.168.1.1, Interface address 192.168.1.2

Backup Designated Router (ID) 192.168.1.1, Interface address 192.168.1.2
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5

Hello due in 00:00:02

Index 2/2, flood queue length 0
Neighbor Count is 1, Adjacent neighbor count is 2

Router OIdR is replacing another router on the network with the intention of having OIdR and R2 exchange routes_ After the engineer applied the initial OSPF
configuration: the routes were still missing on both devices. Which command sequence must be issued before the clear IP ospf process command is entered to

enable the neighbor relationship?

© OldR(config)=interface g0/0/0

L

OldR(config-if)zip ospf dead-interval 15

1 OldR({config)#router ospf 1

OldR{config-router)#no router-id 192.168.1.1

‘@ OldR(config)*router ospf 1

OldR(config-router)#network 192.168.1.0 255.255.255.0 area 2

_ OldR({config&interface g0/0/0

OldR(config-if)#ip ospf hello-interval 15

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 304
- (Exam Topic 4)

Drag and drop the characteristics of transport layer protocols from the left onto the corresponding protocols on the right.
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ITCP
guarantees packet delivery
uses a 32-bit sequence number
ideal for voice traffic
provides support for retransmission of lost packets Loe

offers minimal overhead within a packet

requires less computer resources

A. Mastered
B. Not Mastered

Answer: A

Explanation:

guarantees packet delivery

e e T A ek G i | e
L uses a 32-bit sequence number )
ideal for voice traffic j

prowides support for retransmission of lost packets

| offers minimal overhead within a packet |i

— S r—— — — — — B S — — . — — - |

requires less computer resources

NEW QUESTION 307
- (Exam Topic 4)

TCP
provides support for retransmission of lost packets 1
: i
guarantees packet delivery |
(!
uses a 32-bit sequence number
{UDP

ideal for voice traffic

requires less computer resources

offers minimal overhead within a packet

K

An engineer is configuring switch SW1 to act an NTP server when all upstream NTP server connectivity fails. Which configuration must be used?

A)

SW1E config t

BW1{configEntp peer 192.168.1.1
SW1{config@ntp access-group peer accesslistd

B)

SWid configt
SW1(configisntp master
SW1{configmntp server 192.168.1.1

C)

SW1# config t

SWH{config#ntp server 192.168.1.1

SWH{config #ntp access-group server accesslistl

D)

SW1# config t

SV {config@ntp backup
SW1{configlEntp server 192.168.1.1

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: B

NEW QUESTION 309
- (Exam Topic 4)
Which security method is used to prevent man-in-the-middle attack?

A. authorization
B. authentication
C. anti-replay

D. accounting

Answer: B

NEW QUESTION 314
- (Exam Topic 4)
What is used as a solution for protecting an individual network endpoint from attack?

A. Router

B. Wireless controller
C. Anti software

D. Cisco DNA Center

Answer: C

NEW QUESTION 319
- (Exam Topic 4)
Drag and drop the AAA features from the left onto the corresponding AAA security services on the right. Not all options are used.

Answer Area

It enables the device to allow user- or group-based | | Accounting
access.

It leverages a RADIUS server to grant user access
to a reverse Telnet session.

It records the amount of time for which a user
accesses the network on a remote server.

Authorization

It restricts the CLI commands that a user can
perform.

It uses TACACS+ to log the configuration
commands entered by a network administrator.

It verifies the user and password before granting
access to the device.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area

It enables the device to allow user- or group-based
access.

It leverages a RADIUS server to grant user access
to a reverse Telnet session.

It records the amount of time for which a user
accesses the network on a remaote server.

Accounting

It records the amount of ime for which a user
accesses the network on a remote server.

It uses TACACS+ to log the configuration
commands entered by a network administrator.

Authorization
It restricts the CLI commands that a user can It leverages a RADIUS server to grant user access
perform. to a reverse Telnet session.
It uses TACACS+ to log the configuration It restricts the CLI commands that a user can
commands entered by a network administrator. perform.
It verifies the user and password before granting
access to the device.
NEW QUESTION 320
- (Exam Topic 4)
Refer to the exhibit.
10.73.65.64/30 e ah
Loopback(: o Loopback(:
10.10.1.14/32 Fa0/0 Fa0/0 “ 10.10.1.86/32

All interfaces are configured with duplex auto and ip ospf network broadcast. Which configuration allows routers R14 and R86 to form an OSPFv2 adjacency and
act as a central point for exchanging OSPF information between routers?

R14#

interface FastEthernet0/0

ip address 10.73.65.65 255.255,255.252
ip ospf priority 0

ip mtu 1500

router ospf 10

router-id 10.10.1.14

network 10.10.1.14 0.0.0.0 area 0
network 10.73.65.64 0,0.0.3 area 0
R86#

interface FastEthernet0/0

ip address 10.73.65.66 255.255.255.252
ip mtu 1500

router ospf 10

router-id 10.10.1.86

network 10.10.1.86 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0
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R14#
interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf priority 255

ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.14

R86#
interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.66 255.255.255.252
ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.86

R14#

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf priority 255

ip mtu 1500

router ospf 10

router-id 10.10.1.14

network 10.10.1.14 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0
R86#

interface FastEthernet0/0

ip address 10.73.65.66 255.255.255.252
ip mtu 1400

router ospf 10

router-id 10.10.1.86

network 10.10.1.86 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0

R14#
interface Loopback(
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf 10 area 0

ip mtu 1500

router ospf 10

ip ospf priority 255
router-id 10.10.1.14
RE6#

interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.66 255.255,255,252
ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.86

A. Option A
B. Option B
C. Option C
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D. option D

Answer: B

NEW QUESTION 322
- (Exam Topic 4)

Which syslog severity level is considered the most severe and results in the system being considered unusable?

A. Alert

B. Error

C. Emergency
D. Critical

Answer: C
NEW QUESTION 324

- (Exam Topic 4)
Refer to the exhibit.

Switch2# show lldp

Global LLDP Information
Status: ACTIVE
LLDP advertisements are sent every 30 seconds
LLDP hold time advertised is 120 seconds

LLDP interface reinitialization delay is 2 seconds

A network engineer must update the configuring on switch2 so that it sends LLDP packets.
A)

Switch2(config#lldp timer 1
Switch2(config#lldp tlv-select 3
B)

Switch2(config)#lldp timer 1
Switch2(config)#lldp holdtime 3
C)

Switch2(config)#lldp timer 60
Switch2(config#lldp holdtime 180

D)

) Switch2(config)#lldp timer 60
Switch2(config)#lldp tlv-select 180

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 326
- (Exam Topic 4)
Refer to the exhibit.

Current Neighbor Relationship

Neighbor ID Pri State Dead Time Address Interface

Desired Neighbor Relationship

Neighbor ID Pri State Dead Time Address Interface
192.168.1.1 0 FULL/ -  00:00:31 192.168.1.1 GigabitEthernet0/0

192.168.1.1 1 FULL/DR 00:00:33 192.168.1.1  GigabitEthernet0/0

How must OSPF be configured on the GigabitEthernet0/0 interface of the neighbor device to achieve.
A)

Router(config)#interface GigabitEthernet 0/0
Router(config-if#ip ospf pruit}* 1
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B)

Router(config)#interface GigabitEthernet 0/0
Router(config-if)#ip ospf 1 area 2

C)

Router(config)#interface GigabitEthernet 0/0
Router(config-ifj#ip ospf cost 5

D)

Router(config)#interface GigabitEthernet 0/0
Router(config-if #ip ospf network point-to-point

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 329
- (Exam Topic 4)
How does authentication differ from authorization?

A. Authentication verifies the identity of a person accessing a network, and authorization determines what resource a user can access.

B. Authentication is used to record what resource a user accesses, and authorization is used to determine what resources a user can access

C. Authentication is used to determine what resources a user is allowed to access, and authorization is used to track what equipment is allowed access to the
network

D. Authentication is used to verify a person's identity, and authorization is used to create syslog messages for logins.

Answer: A

NEW QUESTION 334

- (Exam Topic 4)

An engineer has configured the domain name, user name, and password on the local router. What is the next step to complete the configuration tor a Secure Shell
access RSA key?

A. crypto key Import rsa pem
B. crypto key pubkey-chain rsa
C. crypto key generate rsa

D. crypto key zeroize rsa

Answer: C
NEW QUESTION 336
- (Exam Topic 4)

An engineer is configuring SSH version 2 exclusively on the R1 router. What is the minimum configuration required to permit remote management using the
cryptographic protocol?
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hostname R1

ip domain name cisco

crypto key generate rsa general-keys modulus 1024
username cisco privilege 15 password 0 cisco123
ip ssh varsian 2

line vty 015
transport input ssh
lagin Iocal

hestmame R

crypto key generate rsa general-keys modulus 1024
usernams cisco privilege 15 password 0 cisco123
Ip ssh verslon 2

ling wiy 015
transport input all
lagin lecal

hostname RA1

service password-encryplion

crypto key generate rsa general-keys modulus 1024
usernames ciseo privilege 15 password 0 ciscoi2d
I s5h warslon 2

line wty 015
transport inpul ssh
login local

hostname R1

ip domain name cisco

crypto Key generate rsa general-keys modules 1024
username cisco privilege 15 password 0 ciscoi23
i ssh warsion 2

ling wty 045
transport input all
login local

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 340
- (Exam Topic 4)
What is an enhancement implemented in WPA3?

A. employs PKI and RADIUS to identify access points

B. applies 802.1x authentication and AES-128 encryption

C. uses TKIP and per-packet keying

D. defends against deauthentication and disassociation attacks

Answer: D

NEW QUESTION 344
- (Exam Topic 4)
What differentiates device management enabled by cisco DNA center from traditional campus device management?

A. CLl-oriented device

B. device-by-device hands-on
C. centralized

D. per-device

Answer: C

NEW QUESTION 346
- (Exam Topic 4)
Refer to the exhibit.
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R1# show ip routa
Codas: C - connected, § - static, I - IGRP, R - RIP, M - mobile, B - BGP
D - EICRP, EX - EIGRPF external, © - OSPF, IA - OSPF inter area
Nl - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF extamal typa 1, E2 - OSPF extarmal type 2, E - EGP
i I8-1I8, L1 - IS8-I8 lewwl-1, L2 - IS-1I8 lewwl-2, * - candidate
default
U - par-usar static routa, o - ODR
Cateway of last resort is not set
C 10.0.0.0/8 is directly connected, Loopback(
10.0.0.0/8 is variably subnetted, 4 subnets, 2 masks
10.0,1,3/32 [110/100] wia 10.0.1.100, 00:39:08, Seriald
10.0.1.0/24 is directly connacted, Seriall
10.0,1.5/32 [110/5] via 10.0.1.50, 00:39:08, Gigabit Ethernet 0/0
10.0.1.4/32 [110/10] wia 10.0.1.4, 00:39:08, Gigabit Ethermet 0/0

2o 00

What does route 10.0.1.3/32 represent in the routing table?

A. the 10.0.0.0 network

B. a single destination address

C. the source 10.0.1.100

D. all hosts in the 10.0.1.0 subnet

Answer: A

NEW QUESTION 347
- (Exam Topic 4)

A network engineer is replacing the switches that belong to a managed-services client with new Cisco Catalyst switches. The new switches will be configured for
updated security standards, including replacing Telnet services with encrypted connections and doubling the modulus size from 1024. Which two commands must

the engineer configure on the new switches? (Choose two.)

A. crypto key generate rsa general-keys modulus 1024
B. transport input all

C. crypto key generate rsa usage-keys

D. crypto key generate rsa modulus 2048

E. transport Input ssh

Answer: AE
NEW QUESTION 348

- (Exam Topic 4)
Refer to the exhibit.

Rlfishow ip ospf interface g0/0/0
GigabitEthernet0/0/0 is up, line protocol is up
Internet address is 192.168.1.2/24, Area 0

Transmit Delay is 1 sec, State POINT-TO-POINT,

Timer intervals configured, Hellc 15, Dead 20, Wait 20, Retransmit 5
Hello due in 00:00:08

Index lflr flood queue length 0

Next 0x0(v)/0x0(0)

Last flood scan length is 1, maximum is 1

Last flood scan time is 0 msec, maximum is 0 msec

Suppress hello for 0 neighbor(s)

R2#show ip ospf interface g0/0/0
GigabitEthernet0/0/0 is up, line protocel igfjup
Internet address is 192.168.1.1/24, Area 0
Process ID 1, Router ID10.1.1.1, Network Type POINT-TO-POINT, Cost: 1
Transmit Delay is 1 sec, State POINT-TO-POINT,
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello dues in 00:00:11
Index 1/1, flood queue length 0
Naxt 0x0(0)/0x0({0)
Last flood scan length is 1, maximum is 1
Last flood scan time is 0 msec, maximum is 0 msec
Suppress helle for 0 neighbor(s)

Process ID 1, Router ID 192.168.1.2, Network Type POINT-TO-POINT, Cost:

1

The network engineer is configuring router R2 as a replacement router on the network After the initial configuration is applied it is determined that R2 failed to show
R1 as a neighbor Which configuration must be applied to R2 to complete the OSPF configuration and enable it to establish the neighbor relationship with R1?

A)

R2{confiq ¥router ospf 1

RZ(config-router #network 192.168.1.0 255.255.255.0 area 2
R2(config-router #network 10.1.1.0 255.255.255.255 area 2
B)

R2(config Wrouter ospf 1

R2{confg-router Frouter-id 192.168.1.2

C)
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RZ(config Winterface g0/0/0
R2(configfjzip espf dead-interval 20
D)

R2Z{config Winterface g0/0/0
R2(config-Nzip ospf hello-interval 15
R2{config-l=ip espf dead-intemal 20

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 351

- (Exam Topic 4)
Refer to the exhibit.

Gateway of last resort is 172.16.2.2 to network 0.0.0.0

10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks

10.10.100.0/26 is directly connected, GigabitEthernet0/0/6
10.10.10.0/24 is directly connected, GigabitEthernet0/0/0
10.10.10.3/32 is directly connected, GigabitEthernet0/0/0
172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks
S 172.16.1.33/32 is directly connected, GigabitEthernet0/0/1
c 172.16.2.0/23 is directly connected, GigabitEthernet0/0/1
L 172.16.2.1/32 is directly connected, GigabitEthernet0/0/1

s* 0.0.0.0/0 [1/0] via 172.16.2.2

0

A packet sourced from 10.10.10.32 is destined for the internet.

Ow>
w NP

Answer: B

NEW QUESTION 352
- (Exam Topic 4)
Which command implies the use of SNMPv3?

A. snmp-server host

B. snmp-server community
C. snmp-server enable traps
D. snmp-server user

Answer: B

NEW QUESTION 353

- (Exam Topic 4)

Refer to the exhibit. A multivendor network exists and the company is implementing VolP over the network for the first time.
A)

SW1(config#no cdp enable

SW1(config#interface gigabitethernet1/0/1

SWi1(canfig-if #cdp run

B)

SW1(config)#lidp enable
SWi1(config#interface gigabitethernet1/0/1
SWi1(config-if #lidp run

C)

SWi1(config)#lldp run
SWi1(config)#interface gigabitethernet1/0/1
SW1(config-if)#lldp enable

D)

SW1(config#no cdp run
SWi1(config)#interface gigabitethernet1/0/1

SWi1(config-if #lidp transmit
SW rrnfinLifEZlildn raraiva
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 356
- (Exam Topic 4)
Which command enables HTTP access to the Cisco WLC?

A. config network secureweb enable

B. config certificate generate web admin
C. config network webmode enable

D. config network telnet enable

Answer: C

NEW QUESTION 361
- (Exam Topic 4)
Which two practices are recommended for an acceptable security posture in a network? (Choose two)

A. Backup device configurations to encrypted USB drives for secure retrieval
B. maintain network equipment in a secure location

C. Use a cryptographic keychain to authenticate to network devices

D. Place internal email and file servers in a designated DMZ

E. Disable unused or unnecessary ports, interfaces and services

Answer: CE

NEW QUESTION 365
- (Exam Topic 4)

A. LAG

B. EtherChannel
C. trunk

D. access

Answer: C
NEW QUESTION 368

- (Exam Topic 4)
Refer to the exhibit.

Which action by the router when a packet is sourced from 10.10.10.2 and destined 10.10.10.167?

A. It queues the packets waiting for the route to be learned.
B. It floods packets to all learned next hops.

C. It discards the packets.

D. It uses a route that is similar to the destination address.

Answer: D

NEW QUESTION 373
- (Exam Topic 4)
What provides connection redundancy increased bandwidth and load sharing between a wireless LAN controller and a Layer 2 switch?

A. VLAN trunking

B. tunneling

C. first hop redundancy
D. link aggregation

Answer: D
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NEW QUESTION 376
- (Exam Topic 4)
What is the functionality of the Cisco DNA Center?

A. data center network pokey con

B. console server that permits secure access to all network devices
C. IP address cool distribution scheduler

D. software-defined controller for automaton of devices and services

Answer: D

NEW QUESTION 381

- (Exam Topic 4)

A client experiences slow throughput from a server that is directly connected to the core switch in a data center. A network engineer finds minimal latency on
connections to the server, but data transfers are unreliable, and the output of the show Interfaces counters errors command shows a high FCS-Err count on the
interface that is connected to the server. What is the cause of the throughput issue?

A. high bandwidth usage
B. a physical cable fault
C. a speed mismatch

D. a cable that is too long

Answer: B
NEW QUESTION 386

- (Exam Topic 4)
Refer to the exhibit.

A1

interface GigabitEthernatd,1
ip address 152.168.12.1 255.235.255.128
no shutdown

router capf 1
network 192_.168.12.1 0.0.0.0 area 1

Rz

interface GigabitEthernetd/1
ip address 152 .168.12.2 2553 255, 255.128
ne ahutdswn

A network engineer started to configure two directly-connected routers as shown. Which command sequence must the engineer configure on R2 so that the two
routers become OSPF neighbors?
A)
router ospf 1
network 192.168.12.1 0.0.0.0 area 1

B)

interface Gigab/tEthernetiM
ip ospf 1 area 1

C)
interface GigahitEthernet0/
ipospfiaread

D)
router ospf 1
network 192.168.12.0 0.0.0.127 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 391
- (Exam Topic 4)
What is a benefit of a point-to-point leased line?

A. flexibility of design

B. simplicity of configurator
C. low cost

D. full-mesh capability

Answer: B

NEW QUESTION 396

- (Exam Topic 4)

Under which condition is TCP preferred over UDP?

A. UDP is used when low latency is optimal, and TCP is used when latency is tolerable.

B. TCP is used when dropped data is more acceptable, and UDP is used when data is accepted out- of-order.
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C. TCP is used when data reliability is critical, and UDP is used when missing packets are acceptable.
D. UDP is used when data is highly interactive, and TCP is used when data is time-sensitive.

Answer: C

NEW QUESTION 401
- (Exam Topic 4)
Why would a network administrator choose to implement automation in a network environment?

A. To simplify the process of maintaining a consistent configuration state across all devices
B. To centralize device information storage

C. To implement centralized user account management

D. To deploy the management plane separately from the rest of the network

Answer: A
NEW QUESTION 405

- (Exam Topic 4)
Drag and drop the statements about networking from the left onto the corresponding networking types on the right

[Tragimonal Networkang
The ovps implaments Changes indnioually 3T eadh davica E

L

This type leverages controllers to handie natwark managemant |

MINERNAnce CORS Jre heghdr Than with OChid Nelwarking Gpions.

Contiplier-fased Matwarkong

Ths type prowdes 3 centraiged vew of the network |

A. Mastered
B. Not Mastered

Answer: A

Explanation:

P__Lh__hh-_hh-_hﬂ
[Tracitional Metworkang
| Thes tvoe implaments changes indnaoually 3T eadh devica | F —

e e e e e e e e ) Thi Tvpe implements changes indhadoatly 31 eadh device.
|

=

| This tvpe leverages comtrollers to handie network managemant !
I Martenance coss ane highor than with other netwarking options

|
Mamtenanie Cofs e Rghar than with othid Melworong ophons

) COREICI DS ECWOSRNG

s s e S e e S| ST S e

. ___ammm oo aame oaan o

-——_—l—_-—_———_—_—_———_—l-_———-T

| This tvpe prowdes 3 rentraioed vew of the network This tvoe leverdges controllers to handle Retwork mandgement

' el

1
]’ Ths type provedes a centraled view of the network
1

NEW QUESTION 408
- (Exam Topic 4)
Refer to the exhibit.
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Layer 2 Layer3 | AAA Servers

Laver 2 Secunty ®  WPA+WPAD
MAL Filterng?
rast Iransition

Fasz Trangation

Prodected Managoment Tranw
PMF Required w
WEPA s WPA2 Paramelers

WPA Policy
WPAZ Policy

OSEN Polcy

Authentbcation Key Managemsent a2

BO2.1X F nabie

COwM [ nabie

PS5 Enabie

FT 802.1X% Enabde

FT PSK £ nable

PSE Farmalt ASLI] w

i4 =

WA Encrypticn AES TP

 General | Security | QoS | Pelicy-Mapping | Advanced

A)

Select WPA Policy
Select WPA2 Policy
Enable FT PSK

B)

Select WPA2 Policy
Disable PMF

Enable PSK

©)

Select WPA Policy
Enable CCKM
Enable PSK

D)
Disable PMF

Enable PSK
Enable 802.1x

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 410

- (Exam Topic 4)
| IGiooal Unicast
2001 8600 cafle: ;123
frba: 006a ofle: 7225 bl ofxl?: 1a76-88de
Link-Local Urscast
fe80: ;000 211 foeb: B9aa
MOs:-1:3 [Muticast
Lixcal
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface Description automatically generated

NEW QUESTION 413

- (Exam Topic 4)

A Cisco engineer notices thai two OSPF neighbors are connected using a crossover Ethernet cable. The neighbors are taking too long to become fully adjacent.
Which command must be issued under the interface configuration on each router to reduce the time required for the adjacency to reach the FULL state?

A. ip ospf network broadcast

B. ip ospf dead-interval 40

C. ip ospf network point-to-point
D. ip ospf priority O

Answer: C

NEW QUESTION 414
- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.

Multicast |

confined to a single link

provides one-to-many communications

Link-Local Address
serves as the next-hop addresses

cannot be used as a source address

A. Mastered
B. Not Mastered

Answer: A
Explanation:
| . [
| confined to a single link confined to a single link 1
R e S T R e e el e e U sl T e R e S |
f I L A — _—_—-_—_-.—-_-_—_-_—.I
' Ll : I ovides one-to-many communications '
| provides one-to-many communications i . pr Ty ' |
1
L= | | e e Bt e s e e R e S
'| . Link-Local Address
| serves as the next-hop addresses |
| ] sorves a5 the next-hop addresses
e e £
1 I
cannot be used as a source address : cannot be used as a source address I
_________________________ I

NEW QUESTION 417
- (Exam Topic 4)
What is the function of northbound API?

A. It upgrades software and restores files.

B. It relies on global provisioning and configuration.

C. It supports distributed processing for configuration.

D. It provides a path between an SDN controller and network applications.

Answer: D

NEW QUESTION 418
- (Exam Topic 4)
Two switches have been implemented and all interfaces are at the default configuration level. A trunk link must be implemented between two switches with these
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requirements:

* using an industry-standard trunking protocol

« permitting VLANs 1 -10 and denying other VLANs How must the interconnecting ports be configured?
A)

switchport mode dynamic

channel-protocol lacp

switchport trunk allowed vians 1.10

B)

switchport mode trunk
switchport trunk encapsulation dotiq
switchport trunk allowed vians 1.10

C)
switchport mode trunk

switchport trunk allowed vians 1-10
switchport trunk native vian 11

D)

switchport mode dynamic desirable
channel-group 1 mode desirable

switchport trunk encapsulation isl
switchport trunk allowed vian except 11-4094

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 423
- (Exam Topic 4)

Vian 2

o,
-

10.10.10.1/24

Native vian 10

10.10.2.1/23

Rl#show run

Building configuration..

1

interface GigabitEthernet0/0.2
encapsulation dotlQ 2

ip address 10.10.10.10 255.255.255.0
1

end
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A)

interface GigabitEthernet0/0
ip address 10.10.2.10 255.255.252.0

B)

interface GigabitEthernet0/0.3
encapsulation dot1Q 10
ip address 10.10.2.10 255.255.255.252

C)

interface GigabitEthernet0/0.10
encapsulation dot1Q 3
ip address 10.10.2.10 255.255.254.0

D)

interface GigabitEthernet0/0.3
encapsulation dot1Q 3 native
ip address 10.10.2.10 255.255.252.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 426

- (Exam Topic 4)
Refer to the exhibit.

Allow AAA Override Enabled
Coverage Hole Detection Enabled

Enable Session Timeout 1800
Session Timeout (secs)
Alronet 1E Enabled

Diagnastic Channel 48 Enabled

The P2P blocking action option is disabled on the WLC.

A. Enable the Static IP Tunneling option.

B. Disable the Coverage Hole Detection option.
C. Check the DHCP Add

D. Assignment check box.

Override Interface AL IPv4  None [

Layer2 Ad None [
URL ACL None

P2P Blocking Action Disabled <]
Client Exclusion 4 Benbied ¥
Timeout Value (secs)

Maximum Aliowed Clients

(]

Static [P Tunneling 44 Enabied

Wi-Fi Direct Clients Policy  Disabled %]
Maximum Allowed Clients 200

Per AP Radio

m|m|wlwlmam

IPv6  None [

E. Set the P2P Blocking Action option to Forward-UpStream.

Answer: A

Passing Certification Exams Made Easy

DHCP
DHCP Server Override
0.0.0.0
DHCP Server 1P Addr

DHCP Addr. Assignment Required

Management Frame Protection [MFP)

MFP Ciient Protection 4 Optional g

DTIM Period (in beacon intervals)

802.11a/m(1-255) 1

B802.11b/g/n (1 - 255) 1
NAC

NACState None
Load Balancing and Band Select

Client Load Balancing

Client Band Select
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NEW QUESTION 431
- (Exam Topic 4)
Refer to the exhibit.

Rl#asho ip route
Codas: L - local, C - connectad, S - static, R - RIP, M - mobila, B - BGF
D - EIGRP, EX - EIGRF saxternal, O - OSPF, IA - OSPF Antear aresa
Kl - OSFF N55SA axtearnal type 1, N2 - OSPF NSSA axternal type 2
El - OSPF sxternal type 1, E2 - OSPF sxternal type 2
i - IS-18, su - IS-1IS5 summary, L1 - IS-IS level-1, L2 - IS-IS level-2

o = QDR, P - paricdic downloaded static route, H - NHRP, 1 - LISP
+ = replicated routes, % - next hop override

Gatevay of last resort is 10.36.0.1 to natwork 0.0.0.0

s5* 0.0.0.0/0 [1/0] wia 10.56.0.1

10.0.0.0/8 is variably subnetted, 2 subnets, I masks
10.36.0.0/17 is directly connected, Ylian3é
10.36.0.19/32 is directly connected, Vianlé
10.96.128.0/18 is dirsctly connectad, Viani7
10.96.128.19/32 is directly connacted, Vians?

e n

ia - I5-1IS Anter area, " - candidats default, U - par-usar static route

When router R1 is sending traffic to IP address 10.56.192 1, which interface or next hop address does it use to route the packet?

A. 0.0.0.0.0/0
B. 10.56.0.1

C. 10.56.128.19
D. Vlan57

Answer: B

NEW QUESTION 436
- (Exam Topic 4)

172.16.5.0/24

10.10 10.0/24

Refer to the exhibit. The router R1 is in the process of being configured. Routers R2 and R3 are configured correctly for the new environment. Which two

commands must be configured on R1 for PC1 to communicate to all PCs on the 10.10.10.0/24 network? (Choose two.)

A. ip route 10.10.10.0 255.255.255.0 192.168.2.3

B. ip route 10.10.10.10 255.255.255.255 192.168.2.2
C. ip route 10.10.10.10 255.255.255.255 g0/1

D. ip route 10.10.10.8 255.255.255.248 g0/1

E. ip route 10.10.10.0 255.255.255.248 192.168.2.2

Answer: AE

NEW QUESTION 440
- (Exam Topic 4)

Which protocol must be implemented to support separate authorization and authentication solutions for wireless APs?

A. RADIUS
B. TACACS+
C. 802.1X

D. Kerberos

Answer: A

NEW QUESTION 442
- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.
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Global Unicast Address

Is unable to route on the internet

Is a counterpart of private IPv4 addresses

IUnique Local
enables aggregation of routing prefixes
Is routable and reachable via the Internet
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Graphical user interface, application Description automatically generated
NEW QUESTION 445
- (Exam Topic 4)
Refer to the exhibit.
3 W
Fn|,~ﬂs1
R3
Lad
)
OSPF - I
Area 0 . -
E [ ]
___Foo FOO
1114 20N Fo7i !1112
R4 n ¥ R2
o o
€2 ]
o =
1 ¢
OSPF £0/0 Fot
Area 1 I
1111
R1

Rl#show ip route
1.0.0.0/8 is variably subnetted, 2 subnets, 2? masks

LA 1.1.1.0/24 [110/3) via 12.1.1.2, 00:00:2%, FastEthernet0/0
24.1.1.0/30 is directly connected, FastEthernet2/0
34.1.1.0/30 is directly connected, FastEthernet3i/0
1.1.1.3/32 [1/0] wvia 14.1.1.2

OO o

Which two values does router R1 use to identify valid routes for the R3 loopback address 1.1.1.3/32? (Choose two.)

A. lowest cost to teach the next hop
B. highest metric

C. highest administrative distance
D. lowest metric

E. lowest administrative distance

Answer: DE

NEW QUESTION 449
- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.
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is used exclusively by a non-host device

sends packets to a group address rather than a single address

has a unicast source sent to a group

is routed to the nearest interface that has the address

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Multicast

Anycast

Graphical user interface, application Description automatically generated

NEW QUESTION 453
- (Exam Topic 4)

An engineer is installing a new wireless printer with a static IP address on the Wi-Fi network. Which feature must be enabled and configured to prevent connection

issues with the printer?

A. client exclusion

B. passive client

C. DHCP address assignment
D. static IP tunneling

Answer: C

NEW QUESTION 456

- (Exam Topic 4)
Drag and drop the QoS terms from the left onto the descriptions on the right.
class-hased welghted far quenieing mmﬁuﬂh
— e
e Ly
| policing | outcome of overutiization
| o9 [

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Table Description automatically generated

NEW QUESTION 457
- (Exam Topic 4)
Refer to the exhibit.

When router R1 receives a packet with destination IP address 10.56.0 62. through which interface does it route the packet?

A. Nullo

B. Vlan58
C. Vlan60
D. Vlan59

Answer: B
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NEW QUESTION 462
- (Exam Topic 4)

Drag and drop the SNMP components from the left onto the description on the right.

a1l

rude” ] v

by | 84

r

follechon of wndaddy enlifatle opdts whosd
date con be mlerogated over SNMP

vk ke cortrolad by SNMEP

vste that rurs monitonng applcatons and
cowlr ok etk e

NS

SANF comporent Bt cagtures and translabes
dene and nttwor data

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-2
2-3
3-1

NEW QUESTION 465
- (Exam Topic 4)
Refer to the exhibit.

A network engineer must configure communication between PC A and the file server. Which commend must be configured on switch A to prevent interruption of

other communications?

192.168.0.10/23

PC A File Server

Switch A

192.168.1.20/23

Gi0/3
Gi0/1 e

Switch B

Switch A
Vian 10, 11,12, 13

interface GigabitEthernet0/1
switchport mode trunk
switchport trunk allowed wlan 10-12
1
interface GigabitEthernet(/4
switchport access vlan 13
switchport mode access

Switch B
Vian 10, 11,12, 13

interface GigabitEthernet(/1
switchport mede trunk

1

interface GigabitEthernet(/3
switchport access vlan 13
switchport mode access

. switch port trunk allowed vian 12

. switchport trunk allowed vlan none

. switchport trunk allowed vlan add 13

. switch port trunk allowed vlan remove 10-11

o0 w>

Answer: C

NEW QUESTION 469

- (Exam Topic 4)

Why is a first-hop redundancy protocol implemented?

A. to protect against default gateway failures

B. to prevent loops in a network

C. to enable multiple switches to operate as a single unit
D. to provide load-sharing for a multilink segment

Answer: A
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NEW QUESTION 470
- (Exam Topic 4)
What is the put method within HTTP?

A. Itis a read-only operation.

B. It is a nonldempotent operation.
C. It replaces data at the destination.
D. It displays a web site.

Answer: D
NEW QUESTION 474

- (Exam Topic 4)
Drag and drop the functions of AAA supporting protocols from the left onto the protocols on the right.

|rapILE

endrypls only the passwgrd when it sends an adcesd regusst

ancrypts the enbra body of the access-recuest packet

seDalates &l three S84 e alions

combines authentcabion and autherzabon TACACE+

upes TCP |
= . —l

usess LOP

A. Mastered
B. Not Mastered

Answer: A

Explanation:
A picture containing graphical user interface Description automatically generated

NEW QUESTION 477
- (Exam Topic 4)
Which IP header field is changed by a Cisco device when QoS marking is enabled?

A. Header Checksum
B. Type of service

C. DSCP

D. ECN

Answer: B
NEW QUESTION 480

- (Exam Topic 4)
Refer to the exhibit.

Cat¥E-L# show lldp sniry Cat¥E-2

Local Imtf: @R1/9/21

Chassia fd: 308 BIsY. FEAC

Part id: GL1S9/31

Fort Description: digabitEchernscl o721
Fyatas Hats: CAtFR-J

HanAgameit AdAresSes
IF: 00 .%.100.3

The network administrator must prevent the switch Cat9K-2 IP address from being visible in LLDP without disabling the protocol. Which action must be taken must
be taken to complete the task?

A. Configure the no lldp tlv-select-management-address command globally on Cat9K-2
B. Configure the no lldp transmit command on interface G1/0/21 in Cat9K-1

C. Configure the no lldp receive command on interface G1/0/21 on Cat9K-1

D. Configure the no lldp mac-phy-cfg command globally on Cat9K-2

Answer: A

NEW QUESTION 484
- (Exam Topic 4)
What is an advantage of using auto mode versus static mode for power allocation when an access point is connected to a PoE switch port?
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A. All four pairs of the cable are used

B. It detects the device is a powered device

C. The default level is used for the access point
D. Power policing is enabled at the same time

Answer: D
NEW QUESTION 486

- (Exam Topic 4)
An engineer must configure a core router with a floating static default route to the backup router at 10.200.0.2.

TCP
OMS :
HTTP
| |
|
RTP
SMTP UDP
SNMP
Tedmet
A. Mastered
B. Not Mastered
Answer: A
Explanation:
e e e e el rcp
F m5 | = 95
P e M A e P HTTP
' HTTP ‘
b - = = = S e Ao Y . | SMTP
! -
T - E . - . ot L _
I I
! RTP : Telnet
e e e e e T T s A W R T 2
[ SMTP i LDP
g g R g g 1
R e e g DNS 1
i ' |
SNMP | : ;
——————————————————— : SNMP
frrrr e e re s s T e T J
| Tehret | |
e s e o o e e RTP ‘

NEW QUESTION 490
- (Exam Topic 4)
What is the default port-security behavior on a trunk link?

A. It causes a network loop when a violation occurs.

B. It disables the native VLAN configuration as soon as port security is enabled.

C. It places the port in the err-disabled state if it learns more than one MAC address.

D. It places the port in the err-disabled slate after 10 MAC addresses are statically configured.

Answer: A

NEW QUESTION 492
- (Exam Topic 4)
Drag and drop the steps in a standard DNS lookup operation from the left into the order on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

R M L S S = S S S =

NEW QUESTION 497
- (Exam Topic 4)
Which two features introduced in SNMPv2 provides the ability to retrieve large amounts of data in one request

A. Get

B. GetNext
C. Set

D. GetBulk
E. Inform

Answer: AD

NEW QUESTION 499

- (Exam Topic 4)

A network engineer is upgrading a small data center to host several new applications, including server backups that are expected to account for up to 90% of the
bandwidth during peak times. The data center connects to the MPLS network provider via a primary circuit and a secondary circuit. How does the engineer
inexpensively update the data center to avoid saturation of the primary circuit by traffic associated with the backups?

A. Assign traffic from the backup servers to a dedicated switch.

B. Configure a dedicated circuit for the backup traffic.

C. Place the backup servers in a dedicated VLAN.

D. Advertise a more specific route for the backup traffic via the secondary circuit.

Answer: A

NEW QUESTION 502

- (Exam Topic 4)

An engineer is configuring a switch port that is connected to a VolP handset. Which command must the engineer configure to enable port security with a manually
assigned MAC address of abod-bod on voice VLAN 47

A. switchport port-security mac-address abcd.abcd.abcd

B. switchport port-security mac-address abed.abed.abed vian 4

C. switchport port-security mac-address sticky abcd.abcd.abcd vlan 4
D. switchport port-security mac-address abcd.abcd.abcd vlan voice

Answer: A
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NEW QUESTION 505
- (Exam Topic 4)
Refer to the exhibit.

General  Security | QuS | Pelicy-Mepping | Advance|

Layer 2 | Layerd | '."EJ-‘"

Laper I Baawny B | d

sl Wimmengl [

[ L F T
Egat Teand@sonl
L e R e LA o

e .II.' EREEL T "l

WFA P WPALD P eremerinry

wafh el iy r
WA ko r
WAL §ndryaian r age I Tuge

B P m e Wy Sl g

CIRT I akis
LA I teasbie
Lals r Frimkim

What are the two steps an engineer must take to provide the highest encryption and authentication using domain credentials fr

A. Select PSK under Authentication Key Management

B. Select WPA+WPA2 on Layer 2 Security

C. Select Static-WEP + 802.1X on Layer 2 Security

D. Select WPA Policy with TKIP Encryption

E. Select 802.1X from under Authentication Key Management

Answer: BE
NEW QUESTION 508

- (Exam Topic 4)
Refer to the exhibit.

R1# show ip zoute

c 1.0.0.0/8 is directly connected, Loopback0

10.0.0.0/8 is wvariably subnetted, 4 subnets,6 2 masks
10.10.10.3/32 [110/100) wia 10.10.10.3, 00:39:08, Gigabitethernetd/3
10.10.10.0/24 is directly connected, GigabitathernatO/0
10.10.10.2/32 [110/5] via 10.10.10.2, 00:39:08, Gigabitethernet(/2
10.10.10.4/32 [120/10] wvia 10.10.10.4, 00:39:08, Gigabitethernet0/4

mono

Which next-hop IP address has the least desirable metric when sourced from R1?

A.10.10.10.5
B. 10.10.10.3
C.10.10.10.4
D. 10.10.10.2

Answer: C

NEW QUESTION 511
- (Exam Topic 4)
Refer to the exhibit.

R1# show ip route

® B o8 &

D 172.16.32.0/27 [90/2888597172] wvia 20.1.1.1
O 172.16.32.0/19 [110/292094] via 20.1.1.10
R 172.16.32.0/24 [120/2] wvia 20.1.1.3

An engineer executed the script and added commands that were not necessary for SSH and now must remove the commands.

A. metric

B. cost

C. longest prefix

D. administrative distance

Answer: D
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NEW QUESTION 514
- (Exam Topic 4)
Which device segregates a network into separate zones that have their own security policies?

A.IPS

B. firewall

C. access point
D. switch

Answer: C

NEW QUESTION 516
- (Exam Topic 4)
Which cipher is supported for wireless encryption only with the WPA2 standard?

A. AES256
B. AES
C.RC4
D. SHA

Answer: B
NEW QUESTION 521

- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.

Global Unicast Address
provides for one-to-one communication

confined to a single link

Link-Local Address
serves as the next-hop addresses

is routable and reachable via the Internet

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 526
- (Exam Topic 4)
Refer to the exhibit.
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Codes: L - local, C - connected, 8 - static, K = RIF, M - mobile, B - BGPF
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
Nl - OSPF NMSSA external type 1, NI - OSPF NSSA external typa 2
El - OSPF external type 1, E2 - OSPF external type 2
i - 18-15; su - IS-15 summary, L1 - IS-IS level-1l, L2 - IS-IS level-2

o - ODR, P - pariodic downloaded static route, H - NHRP, 1 - LISP
a - application route
# = replicated route, 1 - pext hop override, p - overrides from PIR
Gateway of last resort is 0.0.0.0 to network 0.0.0.0
5 0.0.0.0/0 is directly connected, NullD
10.0.0.0/8 is wvariably subnetted, & subnets, 2 masks
10.0.12.0/24 is directly connected, GigabitEthernet0/1
10.0.12.1/32 is directly connected, digabitEtharnet0/1
10.0.13.0/24 is directly connected, GigabitEthernmet0/2
10.0.13.1/32 is directly connected, GigabitEthernet0/2
10.0.14.0/24 is directly connected, GigabitEthernat0/)
10.0.14.1/32 is directly connacted, GigabitEtharmet0/J)
192.168.0.0/16 |90/130816) via 10.0.13.3, 00:10:09, GigabitEthernet0/2
192.168.0.0/23 [110/2] via 10.0.14.4, 00:00:46, GigablitEtharnet0/}
192.168.0.0/24 [100/0) wia 10.0.12.2

moOEFEACrACN

ia - 1S-1IS inter area; * - candidate default, U - per-user static route

Which interface is chosen to forward traffic to the host at 192.168.0.55?

A. GigabitEthernetO
B. GigabitEthernet0/1
C. Nullo

D. GigabitEthernet0/3

Answer: B

NEW QUESTION 527
- (Exam Topic 4)
What is a zero-day exploit?

A. It is when a new network vulnerability is discovered before a fix is available

B. It is when the perpetrator inserts itself in a conversation between two parties and captures or alters data.
C. It is when the network is saturated with malicious traffic that overloads resources and bandwidth

D. It is when an attacker inserts malicious code into a SOL server.

Answer: A
Explanation:

https://www.kaspersky.com/resource-center/definitions/zero-day-exploit

NEW QUESTION 532
- (Exam Topic 4)

Which Cisco proprietary protocol ensures traffic recovers immediately, transparently, and automatically when edge devices or access circuits fail?

A. SLB

B. FHRP
C. VRRP
D. HSRP

Answer: D

NEW QUESTION 533
- (Exam Topic 4)

What are two advantages of implementing a controller-based architecture instead of a traditional network architecture? (Choose two.)

A. It allows for seamless connectivity to virtual machines.

B. It supports complex and high-scale IP addressing schemes.
C. It enables configuration task automation.

D. It provides increased scalability and management options.
E. It increases security against denial-of-service attacks.

Answer: CD

NEW QUESTION 535

- (Exam Topic 4)

Refer to the exhibit.

Device# configure terminal
Device(config)# netconf ssh acl 1
Device(config)}# netconf lock-time 100
Device(config)# netconf max-sessions 1
Device(config}# netconf ma-message 10
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A network engineer must configure NETCONF. After creating the configuration, the engineer gets output from the command show line but not from show running-

config. Which command completes the configuration?

A. Device(config)# netconf lock-time 500

B. Device(config)# netconf max-message 1000
C. Device(config)# no netconf ssh acl 1

D. Device(config)# netconf max-sessions 100

Answer: B

NEW QUESTION 540
- (Exam Topic 4)
What is the purpose of using First Hop Redundancy Protocol on a specific subnet?

A. ensures a loop-free physical topology

B. filters traffic based on destination IP addressing

C. sends the default route to the hosts on a network
D. forwards multicast hello messages between routers

Answer: D

NEW QUESTION 541
- (Exam Topic 4)
How does encryption project the wireless network?

A. via integrity checks to identify wireless forgery attacks in the frame

B. via specific ciphers to detect and prevent zero-day network attacks

C. via an algorithm to change wireless data so that only the access point and client understand it
D. via a policy to prevent unauthorized users from communicating on the wireless network

Answer: C
NEW QUESTION 544

- (Exam Topic 4)
Refer to the exhibit.

Layer2 | Layer3 | AAAServers

Layer 2 Security § | WPA+WPA2 o
Security Type Enterprise )
MAC Filtering 2
WPA+WPA2 Parameters
WPA Policy [
WPA2 Policy e

WPA2 Encryption BcompP128(AES) TKIP CCMP256 GCMP128

GCMP256

What must be configured to enable 802.11w on the WLAN?

A. Set PMF to Required.

B. Enable MAC Filtering.

C. Enable WPA Policy.

D. Set Fast Transition to Enabled

Answer: A

NEW QUESTION 545
- (Exam Topic 4)
What is a link-local all-nodes IPv6 multicast address?
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A. ff02:0:0:0:0:0:0:1

B. 2004:31c:73d9:683e:255::
C. fffe:034:0dd:45d6:789e::
D. fe80:4433:034:0dd::2

Answer: D
NEW QUESTION 548

- (Exam Topic 4)
Drag and drop the Ansible terms from the left onto the right.

control node

collection of actions to perform on target
devices, expressed in YAML format

inventory

device with Ansible installed that manages
target devices

managed node

network device, without Ansible installed, upon
which commands can be executed

specific action to be performed on one or more

module target devices
playbook unit of Python code to be executed
sack Ansible file that defines the target devices upon

which commands and tasks can be executed

A. Mastered
B. Not Mastered

Answer: A

Explanation:

control node

NEW QUESTION 549
- (Exam Topic 3)

inventory
inventory playbook
managed node module
module task
playbook managed node
task control node

Drag and drop the descriptions of AAA services from the left onto the corresponding services on the right.
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Jrccounting
allows the user to change to enable mode
Hmits the users access permissions
logs session stabtistics ADthenticat
reconds user commands
sSCCuUres access o routers
Jauthonzaton
vahdates user credentials

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Accounting
records uscr commands
loges ses<ion statistics
Authentication
validates user credenhals
aliows the user to change to enable mode
Authonzation
limits the user’'s access permissions
SEeCures access Lo roulters

NEW QUESTION 551
- (Exam Topic 3)
Refer to the exhibit.

Which switch becomes the root of a spanning tree for VLAN 20 if all li links are of equal speed?

SW1 = 24596 0018.184e.3c00
SW2 = 28692 004a 14e5.4077
SW3 = 32788 0022 55cf dd00
SW4 = 64000 0041 4544 407f
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A. SW1
B. SwW2
C. SW3
D. SW4

Answer: C

NEW QUESTION 556
- (Exam Topic 3)
Refer to the exhibit.

192.168.10.024 / \. 192.168.30.0/24

)
i

! \

// OSPF Area20
/ .2 2N

mgznﬁa.zo.w?u

R1 learns all routes via OSPF Which command configures a backup static route on R1 to reach the 192 168.20.0/24 network via R3?

A. R1(config)#ip route 192.168.20.0 255.255.0.0 192.168.30.2

B. R1(config)#ip route 192.168.20.0 255.255.255.0 192.168.30.2 90
C. R1(config)#ip route 192.168.20.0 255.255.255.0 192.168.30.2 111
D. R1(config)#ip route 192.168.20.0 255.255.255.0 192.168.30.2

Answer: C
NEW QUESTION 559

- (Exam Topic 3)
Refer to the exhibit.

10010724 Int Sena OF1

Intemet

Which two commands must be configured on router R1 to enable the router to accept secure remote-access connections? (Choose two)

A. transport input telnet

B. crypto key generate rsa

C. ip ssh pubkey-chain

D. login console

E. username cisco password 0 Cisco

Answer: BE

NEW QUESTION 560
- (Exam Topic 3)
Which two network actions occur within the data plane? (Choose two.)

A. Add or remove an 802.1Q trunking header.

B. Make a configuration change from an incoming NETCONF RPC.
C. Run routing protocols.

D. Match the destination MAC address to the MAC address table.
E. Reply to an incoming ICMP echo request.

Answer:
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BD

NEW QUESTION 561
- (Exam Topic 3)
Refer to the exhibit.

r‘l-'r|.|..-|, ISP

-

Houterl

Backup ISP

&

A company is configuring a failover plan and must implement the default routes in such a way that a floating static route will assume traffic forwarding when the

primary link goes down. Which primary route configuration must be used?

A. ip route 0.0.0.0 0.0.0.0 192.168.0.2 GigabitEthernetl/O
B. ip route 0.0.0.0 0.0.0.0 192.168.0.2 tracked

C. ip route 0.0.0.0 0.0.0.0 192.168.0.2 floating

D. ip route 0.0.0.0 0.0.0.0 192.168.0.2

Answer: B
NEW QUESTION 562

- (Exam Topic 3)
Refer to the exhibit.

192.168.1.0/24

209.165.200.224/27 g0/1

Internet

&

s

209.165.201.0/27

Router R1 currently is configured to use R3 as the primary route to the Internet, and the route uses the default administrative distance settings. A network engineer
must configure R1 so that it uses R2 as a backup, but only if R3 goes down. Which command must the engineer configure on R1 so that it correctly uses R2 as a

backup route, without changing the administrative distance configuration on the link to R3?

A. ip route 0.0.0.0 0.0.0.0g0/1 1

B. ip route 0.0.0.0 0.0.0.0 209.165.201.5 10
C. ip route 0.0.0.0 0.0.0.0 209.165.200.226 1
D. ip route 0,0.0.0 0.0.0.0 g0/1 6

Answer: C

NEW QUESTION 566
- (Exam Topic 3)

Drag and drop the Rapid PVST+ forwarding slate actions from the loft to the right. Not all actions are used.
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BPDUSs received are lorwarded Lo the system module, ‘ |

BPDUs received mom the systerm module are | |
processed and transmitted

Frames received from |
the attached segment are discarded., 1

action

Frames received from |
the sttached segment are processed

action

Switched frames received from other ports are advanced

The port in the forwarding state responds to network
Managemant mMeassages.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

BPDUs received are forwarded to the system module

BPDUs received from the systermn module are
processed and transmitted

Frames recéived from
the attached segment are discarded.

The ot in the Forwarnding state responds o nehwork
managament Mestages.

NEW QUESTION 571
- (Exam Topic 3)
Which WLC management connection type is vulnerable to man-in-the-middle attacks?

A. SSH

B. HTTPS
C. Telnet
D. console

Answer: C
NEW QUESTION 576

- (Exam Topic 3)
Refer to the exhibit.

Vian2 Vian2

Fa0/1 Fa0/2 -
| = =

0007 .ecb53.4289 0007 .ecB9.7513

SWl#show run SWlH#show mac-address-table
Building configuration... Mac Address Table
i

interface FastEthernet0/1 Vlan Mac Address Type

interface FastEthernetl/2
switchport access vlan 2
switchport trunk allowed vlan 3
switchport mode trunk

switchport access vlan 2 Shaiel S e
switchport mode access 2 0007 .ec53.4289 DYNAMIC

FalO/1

An engineer has started to configure replacement switch SW1. To verify part of the configuration, the engineer issued the commands as shown and noticed that

the entry for PC2 is missing. Which change must be applied to SW1 so that PC1 and PC2 communicate normally?

A)
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SV {config#interface fal/2

SV {contig-il)#Eno switchport mode trunk

SV 1 {config-iN#Fno switchport trunk allowed vian 3
SV {config-iN#Eswitchport !'ﬂﬂl!-i:& ACCESS

B)

SWH (config¥interface fal/1

SWH {config-if#no switchport access vian 2
SW (conflg-iN#switchport trunk native vian 2
SWH (config-ifdswitchport trunk allowed vian 3
C)

SV (config winterface fad/1

SW{config-if#no switchport access vilan 2
SWi{config-if#switchport access vian 3

SV (config-iN#Eswitchport trunk allowed vian 2

D)
SW1 (config#Einterface fal/2
SWi (config-ifEno switchport access vian 2

SV (config-if#¥no switchport trunk allowed vian 3
SW (config-ifEswitchport trunk allowed vian 2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 581

- (Exam Topic 3)
Refer to the exhibit.

= ' T - i, —
- < —

R1 R2

OSPF Foro | 4

Area 0 |

R3

Rlfishow ip ospfl nelghbor
Neighbor 1D Pri State Dead Time Address Interface
192.168.100.2 1 FULL/BDR 00:00:32 192.168.100.2 FastEthernet0/0
192 .168.100.3 1 FULL/DR 00:00:31 192.168.100.3 FastEthernet0/0

Which two configurations must the engineer apply on this network so that R1 becomes the DR? (Choose two.)
A)
R1(config#router ospf 1
R1{config-router =router-id 192.168.100.1
B)
R1{configFinterface fastethernet 0/0
R1(config-ifzip ospf priority 200
C)
|R3(configFinterface fastethernet 0/0
R3(confg-if#ip ospf priority 0
D)
R1({config#interface fastethernet 0/0
R1(config-if#ip ospf priority 0
E)

R3(config#interface fastethernet 0/0
R3(config-if#ip ospf priority 200

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BC

NEW QUESTION 584
- (Exam Topic 3)
A network engineer must configure two new subnets using the address block 10 70 128 0/19 to meet these requirements:
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* The first subnet must support 24 hosts
» The second subnet must support 472 hosts

* Both subnets must use the longest subnet mask possible from the address block

Which two configurations must be used to configure the new subnets and meet a requirement to use the first available address in each subnet for the router

interfaces? (Choose two )

A. interface vlan 1234ip address 10.70.159.1 255.255.254.0

B. interface vlan 1148ip address 10.70.148.1 255.255.254.0

C. interface vlan 4722ip address 10.70.133.17 255.255.255.192
D. interface vlan 3002ip address 10.70.147.17 255.255.255.224
E. interface vlan 155ip address 10.70.155.65 255.255.255.224

Answer: BD

NEW QUESTION 585
- (Exam Topic 3)

A network administrator is setting up a new IPv6 network using the 64-bit address 2001 OEB8 00C1 2200:0001 0000 0000 0331/64 To simplify the configuration

the administrator has decided to compress the address Which IP address must the administrator configure?

A. ipv6 address 21:EB8:C1:2200:1::331/64

B. ipv6 address 2001:EB8:C1:22:1::331/64

C. ipv6 address 2001 :EB8:C 1:2200.1 ::331-64

D. ipv6 address 2001:EB8:C1:2200:1:0000:331/64

Answer: C

NEW QUESTION 589
- (Exam Topic 3)

Drag and drop the functions of SNMP fault-management from the left onto the definitions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Table Description automatically generated

- o e o e = -‘-._-..,a!.:.l-_-
avent cormeigion and aggreganon
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problem resolution

NEW QUESTION 593
- (Exam Topic 3)
Refer to the exhibit.
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PC 1‘1 72.16.0.1
Jﬂaﬂﬁl Internet
Pczlﬂz,ts.u,z NAT Router

interface GigabitEthernet0/0

ip address 172.16.0.5 255.255.255.0
duplex auto

speaad auto

1

interface GigabitEthernet(/1

ip address 209.165.202.130 255.255.255.224
duplex auto

speed auto

L]

ip nat inside source list 1 interface GigabitEthernet0/l overload
]

access-list 1 permit 172.16.0.1
access-list 1 permit 172.16.0.2

How should the configuration be updated to allow PC1 and PC2 access to the Internet?

A. Modify the configured number of the second access list.

B. Add either the ip nat {inside|outside} command under both interfaces.

C. Remove the overload keyword from the ip nat inside source command.

D. Change the ip nat inside source command to use interface GigabitEthernet0/0.

Answer: B
NEW QUESTION 598

- (Exam Topic 3)
Refer to the exhibit.

R1# show ip route
Codes:
C - connected, S - static, I - IGRP, R - RIP, M - mobile, B - BGP, D -
EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area N1 - OSPF NSSA
external type 1, N2 - OSPF NSSA external type 2, E1 - OSPF external type
1, E2 - OSPF external type 2, E - EGP
i - IS-15, L1 - IS-1S level-1, L2 - IS-IS level-2, * - candidate default,
U - per-user static route, o - ODR

Gateway of last resort is not set

C 10.0.0.0/8 is directly connected, Loopback{

10.0.0.0/8 is variably subnetted, 4 subnets, 2 masks

10.0.1.3/32 [110/100) via 10.0.1.100, 00:39:08, Seriall

10.0.1.0/24 is directly connected, Seriall

10.0.1.5/32 [110/5] via 10.0.1.50, 00:39:08, Serial0

10.0.10.0/24 [110/10] via 10.0.1.4, 00:39:08, Gigabit Ethemmet 0/0

D 10.0.10.0/24 [90/10] via 10.0.1.5, 00:39:08, Gigabit Ethernet 0/1

o O 0O O

Web traffic is coming in from the WAN interface. Which route takes precedence when the router is processing traffic destined for the LAN network at 10 0.10.0/24?

A. via next-hop 10.0.1.5
B. via next-hop 100 1.4
C. via next-hop 10.0 1.50
D. via next-hop 10.0 1 100

Answer: A
NEW QUESTION 601

- (Exam Topic 3)
Refer to the exhibit.

10.7.54.0/x

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\I/ Exam Recommend!! Get the Full 200-301 dumps in VCE and PDF From SurePassExam
l | Sure PaSS https://www.surepassexam.com/200-301-exam-dumps.html (760 New Questions)

The router has been configured with a supernet to accommodate the requirement for 380 users on a subnet The requirement already considers 30% future growth.
Which configuration verifies the IP subnet on router R4?
A)

Subnet 10.7.54 0

Subnet mask: 255.255254 0

Broadcast address: 10.7.54 255

Usable IP address range: 107.54 1 - 10.7.55.254

B)

iSubnet 10.7.54.0
Subnet mask 255255 254 0
Broadcast address: 10.7.55.255
Usable IP address range. 10 7.54 1 - 107 55 254
C)
Subnet: 10.7.54.0
Subnet mask: 255255.128 0
Broadcast address: 10.7.55.255
Usable IP address range: 10.7.54 1 - 10.7.55.254

D)

Subnet: 10.7 540

Subnet mask 255255 2550

Broadcast address: 10.7 54 255

Usable IP address range: 10.7.54 1 - 10.7.55.254

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 602

- (Exam Topic 3)
Drag and drop the TCP or UDP details from the left onto their corresponding protocols on the right.

wwmmmnm-pmmmu- ﬁ
meed for a data channel

requires the client and the server to establish a connection =
seiding the packet

used o rellably share files between devices

_— — -—

approgeiate for streaming operations with Minimal latency

A. Mastered
B. Not Mastered

Answer: A

Explanation:

ire= Lhe chent and the server to establish a connection bef
sending the packet

| used o reliably share files betwesh devices

o

I transmitted basedon data contained in the packet without the
neead for a data channel

| appropriate for streaming operations with minimal latency |
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NEW QUESTION 604
- (Exam Topic 3)
Which value is the unique identifier that an access point uses to establish and maintain wireless connectivity to wireless network devices?

A. VLANID
B. SSID
C. RFID
D. WLANID

Answer: B

NEW QUESTION 606

- (Exam Topic 3)

A Cisco engineer must configure a single switch interface to meet these requirements
« accept untagged frames and place them in VLAN 20

* accept tagged frames in VLAN 30 when CDP detects a Cisco IP phone

Which command set must the engineer apply?

A)

switchport mode dynamic desirable

switchport access vian 20

switchport trunk allowed vian 30

switchport voice vian 30

B)

switchport mode dynamic auto
switchport trunk native vlian 20
switchport trunk allowed vian 30
switchport voice vian 30

C

s)witchpnrt mode access
switchport access vian 20
switchport voice vian 30

D)

switchport mode trunk
switchport access vian 20
switchport voice vian 30

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 607
- (Exam Topic 3)
Which two components comprise part of a PKI? (Choose two.)

A. preshared key that authenticates connections

B. RSA token

C. CA that grants certificates

D. clear-text password that authenticates connections
E. one or more CRLs

Answer: BC

NEW QUESTION 610
- (Exam Topic 3)
OSPF must be configured between routers R1 and R2. Which OSPF configuration must be applied to router R1 to avoid a DR/BDR election?

A. router ospf 1network 192.168.1.1 0.0.0.0 area O interface el/lip address 192.168.1.1 255.255.255.252ip ospf network broadcast

B. router ospf 1network 192.168.1.1 0.0.0.0 area 0 interface e1/lip address 192.168.1.1 255.255.255.252ip ospf network point-to-point
C. router ospf 1network 192.168.1.1 0.0.0.0 area O interface el/lip address 192.168.1.1 255.255.255.252ip ospf cost 0

D. router ospf 1network 192.168.1.1 0.0.0.0 area Ohello interval 15 interface el/1llp address 192.168.1.1 255.255.255.252

Answer: B

NEW QUESTION 614

- (Exam Topic 3)

How does Rapid PVST+ create a fast loop-free network topology?

A. It requires multiple links between core switches
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B. It generates one spanning-tree instance for each VLAN
C. It maps multiple VLANS into the same spanning-tree instance
D. It uses multiple active paths between end stations.

Answer: A
NEW QUESTION 618

- (Exam Topic 3)
Refer to the exhibit.

[(rata VLAN %0
Vioice VILAN 51

e

i 1

|

Switch A is newly configured. All VLANSs are present in the VLAN database. The IP phone and PC A on Gi0/1 must be configured for the appropriate VLANSs to
establish connectivity between the PCs. Which command set fulfills the requirement?

A)

G SwilchAlconfig-if #switchport mode access

SwitchA(config-if ifswitchport access vian 50
SwitchaA(config-if Fswitchport voice vian 51

B)

SwitchAlconfig-ilT#switchport mode access
SwilchA{conflig-iT#switchport access vian 50
Swilchalconfig-if #switchport voice vian untagged

C)

SwitchA{config-if #switchport mode trunk
SwitchA{config-if#switchport trunk allowed vian add 50, 51
SwitchA{config-ildswitchport veoice vian dotip

D)

SwitchAlconfig-ifidtswitchport mode trunk
SwitchAfconfig-ifi#switchport trunk allowed vian 50, 51
SwitchAfconfig-ifi#mls qos trust cos

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 623
- (Exam Topic 3)
Refer to the exhibit.
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Router#ishow run
Building configuration...

Current configuration : 1530 bytes

|

| Last configutation change at 11:32:53 UTC Sat Oct 10 2020
upgrade fpd auto

version 15.2

service timestamps debug datetime msec

service timestamps log datetime msec

no service password-encryption
!

hostname Router

!

boot-start-marker
boot-end-marker

!

!

!

no aaa new-model

no ip icmp rate-limit unreachable

!
!
!
!
--More--

Which minimum configuration items are needed to enable Secure Shell version 2 access to R15?
A)

FRouter{configi#hostname R15

F15{config)#ocrypto key generate rsa general-keys modulus 1024

B 15{contig-lina#line viy 0 15

F15{config-line ¥ transport input ssh

R15(confiQ)#ip ssh source-interface FaO/D

F15{conlig)#ip ssh stricthostkeycheck

B)

Routar{config#erypto Key generate rsa general-keys modulus 1024
Routar{configi#ip ssh version 2

Router{config-line #line vy 0 15

Router{config-line # transport input ssh

Router{configi#ip ssh logging events

R15(config#ip ssh stricthostkeycheck

C)

Router{configi#Eip domain-name cisco.com
Router{config#crypto key generate rsa general-keys modulus 1024
Router{config)#ip ssh version 2
Router{config-line #line vty 0 15
Router{config-line & transport input all
Router{configiEip ssh logging events
D)

Fouter{configi#hostname R15

153 (config)#ip domain-name cisco.com

F1&{configi#crypte key generate rsa general-keys modulus 1024
F15{config)#ip ssh version 2

R1&5{config-lineyline vivy 0 15

R S{config-line)# transport input ssh

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 625
- (Exam Topic 3)
Which type of network attack overwhelms the target server by sending multiple packets to a port until the half-open TCP resources of the target are exhausted?

A. SYIM flood
B. reflection

C. teardrop

D. amplification

Answer: A
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NEW QUESTION 630
- (Exam Topic 3)
Refer to the exhibit.

r

10.73.65.64/30

Loopbacki:

: 65 Loopback0:
10.10.1.14/32 Fa0'0

10.10.1.86/32

A static route must be configured on R14 to forward traffic for the 172 21 34 0/25 network that resides on R86 Which command must be used to fulfill the request?

A. ip route 172.21.34.0 255.255.255.192 10.73.65.65
B. ip route 172.21.34.0 255.255.255.0 10.73.65.65
C. ip route 172.21.34.0 255.255.128.0 10.73.65.64
D. ip route 172.21.34.0 255.255.255.128 10.73.65.66

Answer: D

NEW QUESTION 632
- (Exam Topic 3)
Which characteristic differentiates the concept of authentication from authorization and accounting?

A. user-activity logging

B. service limitations

C. consumption-based billing
D. identity verification

Answer: D

NEW QUESTION 637
- (Exam Topic 3)
Drag and drop the characteristics of networking from the left onto the networking types on the right.

| I ontroliket -Based Networ king
focused on network F

focused on devices

usar input is a configuration | |

user input is a policy | Tradibonal Networking

uses allow list secunty model r

uses block list security model

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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(Controller -Based Metworking

focuscd on network

ute= allows lisnt security model

user input = a policy

Tradtional Networksng

focused on devices |

uses block st sccurity maoded

user input is a configurakticon |

NEW QUESTION 641
- (Exam Topic 3)
What is a function of Opportunistic Wireless Encryption in an environment?

A. offer compression

B. increase security by using a WEP connection
C. provide authentication

D. protect traffic on open networks

Answer: D

NEW QUESTION 643

- (Exam Topic 3)

A network engineer is installing an IPv6-only capable device. The client has requested that the device IP address be reachable only from the internal network.
Which type of IPv6 address must the engineer assign?

A. unique local address

B. link-local address

C. aggregatable global address
D. IPv4-compatible IPv6 address

Answer: B
NEW QUESTION 644

- (Exam Topic 3)
Refer to the exhibit.

“oice Vian 10

SWH#show run

Building configuration...
1

interface FastEthernet(0/1
switchport access wvlan 15
1

end

All VLANs are present in the VLAN database. Which command sequence must be applied to complete the configuration?
A. Interface FastEthernetO/1 switchport trunk native vlian 10 switchport trunk allowed vlan 10,15

B. Interface FastEthernet0/1 switchport mode trunk switchport trunk allowed vlan 10,15

C. interface FastEthernet0/1 switchport mode access switchport voice vlan 10

D. Interface FastEthernet0/1 switchport trunk allowed vlan add 10 vlan 10 private-vlan isolated

Answer: C

NEW QUESTION 647
- (Exam Topic 3)
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A Cisco engineer is configuring a factory-default router with these three passwords:
» The user EXEC password for console access is p4sswOrd1l

» The user EXEC password for Telnet access is s3cr3t2

*» The password for privileged EXEC mode is pnv4t3p4ss

Which command sequence must the engineer configured

A)

enable secret privdt3pdss
|

line con 0

password login pd4sswOrd1
|

line vty 0 15

password login sdcr3t2
login

B)

enable secret privilege 15 privdt3pdss
!

line con 0

password pdsswOrd1
login

I

line vty 0 15

password s3cr3t2

login

C)

enable secret privdt3pdss
1

line con 0

password pdsswOrd1
login

I

line vty 0 15
password sdcr3t2
login

D)

enable secret privdt3pdss
|

linecon0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 652
- (Exam Topic 3)

Which two spanning-tree states are bypassed on an interface running PortFast? (Choose two.)

A. disabled
B. listening
C. forwarding
D. learning
E. blocking

Answer: BD

NEW QUESTION 653
- (Exam Topic 3)

What is the function of the controller in a software-defined network?

A. multicast replication at the hardware level
B. fragmenting and reassembling packets
C. making routing decisions

D. forwarding packets

Answer: C

NEW QUESTION 656
- (Exam Topic 3)

What is the purpose of the ip address dhcp command?

A. to configure an Interface as a DHCP server
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B. to configure an interface as a DHCP helper
C. to configure an interface as a DHCP relay
D. to configure an interface as a DHCP client

Answer: D

NEW QUESTION 661
- (Exam Topic 3)
Refer to the exhibit.

Switch2# show lldp
Global LLDP Information
Status: ACTIVE
LLDP advertisements are sent every 30 seconds
LLDP hold time advertised is 120 seconds
LLDP interface reinitialization delay is 2 seconds

A network engineer must update the configuration on Switch2 so that it sends LLDP packets every minute and the information sent via LLDP is refreshed every 3

minutes Which configuration must the engineer apply?

A)

Switch2(config)#lldp timer 60
Switch2(corka'#lido holdtime 180

B)

Switch2(config #lldp timer 60
SwitchZ(config)=lidp tlv-select 180

C)

Switch2(config)#idp timer 1
Switch2({config)#lidp holdtime 3

D)

Switch2(config)&lidp timer 1
SwitchZ(config)#lidp tiv-select 3

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 662
- (Exam Topic 3)
Which protocol uses the SSL?

A.HTTP
B. SSH

C. HTTPS
D. Telnet

Answer: C

NEW QUESTION 667
- (Exam Topic 3)
Refer to the exhibit.
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Switch#show ip dhcp snooping Switchiishow ip dhecp snooping statistics detail
Switch DHCP snooping is enabled Packets Processed by DHCP Snooping = 34
Switch DHCP gleaning is disabled Packets Dropped Because
DHCP snooping is configured on following VLANS: IDB not known = 0
1 Queue full=0
DHCP snooping is operational on following VLANS: Interface is in errdisabled = 0
1 Rate limit exceeded =0
DHCP snooping is conflgured on the following L3 Interfaces: Received on untrusted ports = 32
Insertion of cption 82 is disabled Monzero giaddr = 0
circuit-id default format: vlan-mod-port Source mac not equal to chaddr=0
remote-id: aabb.cc00.6500 (MAC) No binding entry =0
Option 82 on untrusted port is not allowed Insertion of opt82 fail =0
Verification of hwaddr field is enabled Unknown packet =0
Verification of giaddr field is enabled Interface Down =0
DHCP snooping trust/rate is configured on the following Interfaces: Unknown output interface = 0
Interface Trusted Allow option Rate limit (pps) Misdirected Packets =0
Packets with Invalid Size =0
Packets with Invalid Option =0

The DHCP server and clients are connected to the same switch. What is the next step to complete the DHCP configuration to allow clients on VLAN 1 to receive
addresses from the DHCP server?

A. Configure the ip dhcp snooping trust command on the interlace that is connected to the DHCP client.

B. Configure the ip dhcp relay information option command on the interface that is connected to the DHCP client.
C. Configure the ip dhcp snooping trust command on the interface that is connected to the DHCP server.

D. Configure the Ip dhcp relay information option command on the interface that is connected to the DHCP server.

Answer: C

NEW QUESTION 672
- (Exam Topic 3)
Refer to the exhibit.

ip domain-name CNAC.com
1

interface GigabitEthernet0/0/0
ip address 192.168.1.10 255.255.255.0
duplex auto

speed auto
]

line vty 0 15
legin local

Rl#show crypto key mypubkey rsa

Rl#fishow ssh
¥No SSHv2 server connections running.
tNo SSHvl server connections running.

Which two commands must be added to update the configuration of router R1 so that it accepts only encrypted connections? (Choose two )

A. username CNAC secret R!41!14319115@
B. ip ssh version 2

C.linevty 04

D. crypto key generate rsa 1024

E. transport input ssh

Answer: DE

NEW QUESTION 673
- (Exam Topic 3)
Refer to the exhibit.
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Rli#show Tr™man

1

router ospf 1

anto—cost referance-bandwidth 100000
!

interface GigabitEthernet0/0
bandwidth 10000000

!

interface GigabitEthernet0/1
bandwidth 100000000

]

interface GigabitEthernetd/2
ip ospf cost 100

i

interface GigabitEthernetd/3
ip ospf cost 1000

end

Router R1 resides in OSPF Area 0. After updating the R1 configuration to influence the paths that it will use to direct traffic, an engineer verified that each of the

four Gigabit interfaces has the same route to 10.10.0.0/16. Which interface will R1 choose to send traffic to reach the route?

A. GigabitEthernet0/0
B. GigabltEthornet0/1
C. GigabitEthernet0/2
D. GigabitEthernet0/3

Answer: B

NEW QUESTION 678

- (Exam Topic 3)

What are two benefits of FHRPs? (Choose two.)

A. They enable automatic failover of the default gateway.

B. They allow multiple devices to serve as a single virtual gateway for clients in the network.

C. They are able to bundle multiple ports to increase bandwidth.
D. They prevent loops in the Layer 2 network.
E. They allow encrypted traffic.

Answer: AB

NEW QUESTION 680
- (Exam Topic 3)
Refer to the exhibit.

FastEthernat 01 FastEthernet 0/1

SWlfshow run interface fastEthernet 071

switchport trunk encapsulation dotlg
switchport mode trunk

switchport trunk allowed wlan 100,200, 300
channel-group 1 mode on

SWl#show run interface fastEthernet 0/2
switchport trunk encapsulation dotlg
switchport mode trunk

switchport trunk allowed wlan 100,200,300
channel-group 1 mode on

SWZ#show run interface fastEthernet 0/1
switchport trunk encapsulation dotlg
switchport mode trunk

switchport trunk allowed wlan 100, 200, 300
channel -group 1 mode active

SW2#show run interface fastEthernet 0/2
switchport trunk encapsulation dotlg
switchport mode trunk

switchport trunk allowed vlan 100,200, 300

channel-group 1 mode active

FastEthernet (/2 FastEthernet (/2

An engineer built a new L2 LACP EtherChannel between SW1 and SW2 and executed these show commands to verify the work. Which additional task allows the

two switches to establish an LACP port channel?

A. Change the channel-group mode on SW2 to auto
B. Change the channel-group mode on SW1 to desirable.

C. Configure the interface port-channel 1 command on both switches.

D. Change the channel-group mode on SW1 to active or passive.

Answer: D

NEW QUESTION 681
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- (Exam Topic 2)
Refer to the exhibit.

10.

0.0.0/24 is subsetted,

C 10.0.0.0 1s directly connected, FastEthernet0/1
C 172.160.0/16 is directly connected, FastEthernet0/0
D 192.168.0.0/24 [90/30720] via 172.16.0.2, 00:00:03, FastEthernet0/0

-

subnets

Which route type does the routing protocol Code D represent in the output?

A. internal BGP route

B. /24 route of a locally configured IP
C. statically assigned route

D. route learned through EIGRP

Answer: D

NEW QUESTION 685
- (Exam Topic 3)
Drag and drop the facts about wireless architectures from the left onto the types of access point on the right. Not all options are used.

i

tupports sutomatic deploymaent

nemoul Adliss Pont

f"lnll‘..h"'fﬂ fram 3 weéb-baded dashbosid

ceisble for management via Tednel, 55+, or 3 web GUI

Clouc-Based Acceis Point

¢onfgured and managed by & WL

A. Mastered

requires a management [P aadeess

B. Not Mastered

Answer: A

Explanation:

Diagram Description automatically generated

NEW QUESTION 687
- (Exam Topic 3)
Refer to the exhibit.

§

a4

2l

Routers R1 and R3 have the default configuration The router R2 priority is set to 99 Which commands on R3 configure it as the DR in the 10.0 4.0/24 network?

A. R3(config)#interface Gig0/1 R3(config-if)#ip ospf priority 100
B. R3(config)#interface Gig0/0 R3(config-if)#ip ospf priority 100
C. R3(config)#interface Gig0/0 R3(config-if)i=ip ospf priority 1
D. R3(config)#interface Gig0/1 R3(config-if)#ip ospf priority O

Answer: B

NEW QUESTION 690
- (Exam Topic 2)

With REST API, which standard HTTP header tells a server which media type is expected by the client?

A. Accept-Encoding: gzi
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B. deflate

C. Accept-Patch: text/example; charset=utf-8

D. Content-Type: application/json; charset=utf-8
E. Accept: application/json

Answer: D

Explanation:

Accept header is a way for a client to specify the media type of the response content it is expecting and Content-type is a way to specify the media type of request
being sent from the client to the server.

http://www.java-allan

dsundry.com/2012/08/accept-header-vs-content-type-header.html#:~:text=Accept%20and%20Content%2Dtype

NEW QUESTION 694
- (Exam Topic 2)
Refer to the exhibit.

192.168.0.10/23

|F'Cﬁl.-

192.168.1.20/23

File Serve

H

G0N GioN
Swilch A Switch B
Switch A -
Vian 10,11,12,13 Switch 8
Rl Vian 10,11,12,13
interface GigabitEthernet(/] ; 1 : |
ntert f Janpirkrl Uy
switchport mode trunk it ok t ¢ i l; t
witchporl trunk allowed vlan 10-12 'I'“ e
1 !
tert ka1« l rnet b
interface GigabitEthernet0/4 i +gal e
. ; wilchport aci vian )
switchport access vlan 13 :
. , Witchport mod
.?.";'-i'h|:-.-rr mode access .

A network administrator assumes a task to complete the connectivity between PC A and the File Server. Switch A and Switch B have been partially configured with

VLAN 10, 11, 12, and 13. What is the next step

in the configuration?

A. Add PC A to VLAN 10 and the File Server to VLAN 11 fa VLAN segmentation

B. Add VLAN 13 to the trunk links on Switch A and Switch B for VLAN propagation

C. Add a router on a stick between Switch A and Switch B allowing for Inter-VLAN routing.
D. Add PC A to the same subnet as the Fie Server allowing for intra-VLAN communication.

Answer: B

NEW QUESTION 696
- (Exam Topic 2)
Refer to the exhibit.
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An engineer deploys a topology in which R1 obtains its IP configuration from DHCP. If the switch and DHCP server configurations are complete and correct. Which
two sets of commands must be configured on R1 and R2 to complete the task? (Choose two)

A. R1(config)# interface faO/OR1(config-if)}# ip helper-address 198.51.100.100
B. R2(config)# interface gi0O/OR2(config-if)# ip helper-address 198.51.100.100

C. R1(config)# interface fa0/0 R1(config-if)# ip a

ddress dhcp R1(config-if)# no shutdown

D. R2(config)# interface gi0/0 R2(config-if)# ip address dhcp
E. R1(config)# interface faO/OR1(config-if)# ip helper-address 192.0.2.2

Answer: BC

NEW QUESTION 697
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- (Exam Topic 2)
Where is the interface between the control plane and data plane within the software-defined architecture?

A. control layer and the infrastructure layer

B. application layer and the infrastructure layer
C. application layer and the management layer
D. control layer and the application layer

Answer: A

NEW QUESTION 698
- (Exam Topic 2)
What is a difference between RADIUS and TACACS+?

A. RADIUS is most appropriate for dial authentication, but TACACS+ can be used for multiple types of authentication
B. TACACS+ encrypts only password information and RADIUS encrypts the entire payload
C. TACACS+ separates authentication and authorization, and RADIUS merges them

D. RADIUS logs all commands that are entered by the administrator, but TACACS+ logs only start, stop, and interim commands

Answer: C

NEW QUESTION 699
- (Exam Topic 2)

An implementer is preparing hardware for virtualization to create virtual machines on a host. What is needed to provide communication between hardware and

virtual machines?

A. hypervisor

B. router

C. straight cable
D. switch

Answer: A
NEW QUESTION 704

- (Exam Topic 2)
Refer to the exhibit.

Rlf show ip route | begin gateway

Gataway of last resort is 209.165.200.246 to network 0.0.0.0

§* 0.0.0.0/0 [1/0] via 209.163.200.246, Serial0/1/0

is directly connected, Serial0/1/0

172.16.0.0/16 is variably subnetted, 2 subnats, 2 masks
172.16.3.0/24 [1/0] wia 207.165.200.250, Serial0/0/0
172.16.3.0/28 [110/84437) via 207.165.200.254, 00:00:28, Seriald/0/1
207.165.200.0/24 is variably subnetted, & subnets, 2 masks
207,163 ,.200.244/30 is directly connected, Seriall/1/0
207.165.200.245/32 is directly connectad, Seriald/1/0
207.165.200.248/30 ip directly connected, Serialld/0/0
207.165.200.249/32 is directly connected, Seriald/0/0
207.165.200.252/30 is directly connactad, Serialld/0/1
207.165.200.253/32 is directly connected, Serial0d/0/1

[ =27 ]

raerfaen

A packet is being sent across router R1 to host 172.163.3.14. To which destination does the router send the packet?

A. 207.165.200.246 via Serial0/1/0
B. 207.165.200.254 via Serial0/0/1
C. 207.165.200.254 via Serial0/0/0
D. 207.165.200.250 via Serial/0/0/0

Answer: B

NEW QUESTION 705

- (Exam Topic 2)

What benefit does controller-based networking provide versus traditional networking?

A. moves from a two-tier to a three-tier network architecture to provide maximum redundancy
B. provides an added layer of security to protect from DDoS attacks

C. allows configuration and monitoring of the network from one centralized port

D. combines control and data plane functionality on a single device to minimize latency

Answer: C

NEW QUESTION 708
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